Himachal Pradesh

Public Works Department
No. PW-SD-I-CTR- Tender-NIT/2024-2025- 4958-59 Dated:- 26 6 125

To

The Executive Engineer (IT Cell)

Nigam Vihar Shimla.

Subject:-

Publication of Tender Notice.

Jai Hind

Enclosed please find herewith the tender Notice of work as given in the Notice Inviting tender for uploading on department website as per notification Pr. Secy. (PW) to the Govt. of Himachal Pradesh letter No. PBW (B)A(3)1/2024 dated Shimla-2 the 03-01-2024 as the works mentioned in the tender notice are urgent in nature and in public interest.

DA:- Notice Inviting Tender & Schedule of Quantity and Certificate.

Executive Engin Shimla Division No-1., HPPWID shimla-3.

Copy forwarded to for further necessary action please.

1. The Superintending Engineer 4^{th} Circle HPPWD Shimla .

Executive Engineer, Shimla Division No-I., HPPWD., Shimla-3,

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT NOTICE INVITING TENDERS

Executive Engineer B&R Division No-I HPPWD Shimla for the following works on behalf of the Government of Himachal Pradesh from the eligible contractors enlisted in HPPWD, so as to reach in the office as per time schedule given below:-

1. Date of receipt of application for tender forms:-

2. Dated of Issue /sale of tender forms:-

3. Date of receipt of tender:-

4. Date of opening of tender:-

05-07-2025 10:00 AM upto 12:00 PM 05-07-2025 12:00 PM upto 4:00 PM 07-07-2025 .up to 10:30 AM

07-07-2025 up to 11:00 AM

ir. No.	Name of Work	Estimated cost	EMD(Rs.)	Cost of Tender (Rs.)	Time Limit	Eligible class of Contracto
l	A/R & M/O various Residential Building at 1 to VI qtrs at Mehli Shimla (SH;- Providing and fixing kitchen accessories curtain rod, and main hole set No.9 type-VI at mehli Shimla (Balance work).	96032/-	1900/-	350/-	30 days	Class-D
2	A/R & M/O to various Type-I to Type-VI Qtrs of Gad at kasumpti Shimla-9 (SH:- Providing and Fixing cupboard in type-III set no.136 under kasumpti Shimla).	96973/-	1900/-	350/-	30 days	Class-D
3	Improvement of Charabra to Kalyani Helipad road in km. 0/00 to 1/200 (SH:- Maintenance of drain, Trimming of grass, white washing etc in km. 0/00 to 1/200 and Terminal building at kalyani Helipad).	65180/-	1300/-	350/-	30 Days	Class-D
ļ	Improvement of sadhora to Mohanpur road km. 0/00 to 6/525 (SH:- Maintenance of drain Bush Cutting, White washing & Earthen shoulder in km. 0/00 to 4/500).	99885/-	2000/-	350/-	30 Days	Class-D
	Improvement of Mashobra to Ramnagari road km. 0/00 to 5/300 (SH;- Maintenance of drain, Bush cutting, White washing in km. 0/000 to 5/300).	99746/-	2000/-	350/-	30 days	Class-D
_	A/R & M/O Kasumpti to Basant Vihar road km. 0/00 to 0/550 (SH;- C/O B/wall between at Rd. 0/313 to 0/315.50 under Parimahal section).	97663/-	1900/-	350/-	30 days	30 Days
	Providing Staff for maintenance of Shoghi Mehli Junga road in km. 12/375 to 48/925 under junga section for the year 2025-2026 w.e.f.01-07-2025 to 31-07-2025)	99688/-	2000/-	350/- ·	30 days	30 Days
Ĭ	Providing Staff for maintenance of old kasumpti junga road, Rajhana Savi road Rajhana Badagaon road and RajahanBird colony road under junga section for the year 2025-2026 w.e.f.01-07-2025 to 31-07-2025).	99688/-	2000/-	. 350/-	30 Days	Class-D
	Improvement of Shimla to Mandi road in km. 6/00 to 22/00 (SH:- Maintenance of Earthen shoulder of drain, Trimming of grass between Rd. 15/00 to 18/00).	99446/-	2000/-	350/-	30 Days	Class-D
0	Improvement of Shimla to Mandi road in km. 6/00 to 22/00 (SH;- Maintenance of Earthen shoulder of drain , Trimming of grass between Rd. 18/00 to 22/00).	99860/-	2000/-	350/-	30 Days	Class-D
.1	Preparation of Detailed project Report of Construction of kemu ka Khet to Kinkuti road km. 0/00 to 2/315 under junga sub Division in Distt. Shimla (HP).	99025/-	2000/-	350/-	30 Days	Class-D
2	Restoation of Rain Damages on Various roads under janedghat section (SH;- Hiring of Excator cum loader for removal of salips in various RDs).	99750/-	2000/-	350/-	30 Days	Class-D
3	Restoration of rain Damages on various roads under junga section (SH;- Hiring of Excavator	99750/-	2000/-	350/-	30 Days	Class-D
4	cum loader for removal of slips in various RDs). Restoration of rain Damages on various roads under Challanda section (SH;- Hiring of	99750/-	2000/-	350/-	30 Days	Class-D
5	Excavator cum loader for removal of slips in various RDs). Restoration of rain Damages on various roads under Beolia section (SH;- Hiring of Excavator cum loader for removal of slips in various RDs).	99750/-	2000/-	350/-	30 Days	Class-D
6	A/R & M/O various Type-I to Type-VI qtr of GAD at kasumpti Shimla (SH;- Providing white washing Distempering in out house No.3,4,5 and repair of roof in type-III-165 under kasumpti section).	96243/-	1900/-	350/-	30 Days	Class-D
7	A/R & M/O various Type –I to Type-VI Gad residential qtrs at kasumpti Shimla-9 (SH;-Providing and fixing polycarbonate in type-VI set nO.2 & Type-IV set no.58 and steel work in type-IV set nO.58 in kasumpti Shimla-9).	99120/-	2000/-	350/-	30 Days	Class-D
8	A/R & M/O various type-I to type-VI qtr of Gad at kasumpti Shimla (SH:- Providing and fixing tiles in type-III 165 and repair work in o/o Electrical division under kasumpti section).	98255/-	1900/-	350/-	30 Days	Class-D
9	A/R & M/O various residential at kasumpti Shimla (SH:- painting and Distempering in type-III 100 and sets on vacation /on due kasumpti Shimla.	99090/-	2000/-	350/-	30 Days	Class-D
0	A/R & M/O to type-VI qtrs at mehli Shimla (SH:- Providing and fixing cup board & Bed Box in set No.17VI at mehli Shimla).	99985/-	2000/-	350/-	30 Days	Class-D
1	A/R & M/O various type-I to type-VI Gad Residential qtrs at kasumpti Shimla -9 (SH:- Providing and laying sewer line in type-II Block No.28 New Shimla under kasumpti Section).	99116/-	2000/-	350/-	30 Days	Class-D
2	A/R & M/O kasumpti to Besant Vihar road km. 0/00 to 0/550 (SH:- C/O B/wall between Rd. 0/337 to 0/340 under Parimahal section).	97446/-	2000/-	350/-	30 Days	Class-D
3	A/R & M/O kasumpti to Basant vihar road km. 0/00 to 0/550 (SH;- C/O B/wall between Rd. 0/332.50 to 0/335 under Parimahal section).	96396/-	1800/-	350/-	30 Days	Class-D
4	A/R & M/O to Type-I Qtrs Windsor cottage near Rani Ground kasumpti Shimla (SH:- Renovation of Toilet & kitchen set No.8 type-I Windsor cottage kasumpti Shimla).	99171/-	2000/-	350/-	30 Days	Class-D
5	A/R & M/O various type-I to Type-VI Gad Residential qtrs at kasumpti Shimla (SH:- C/O B/wall below type-IV 22 to 27 at Rd. 0/02.50 to 0/05.00 under Mehli Section).	97938/-	2000/-	350/-	30 Days	Class-D
:6	A/R & M/O to Type-I Qtrs Windsor cottage Kasumpti Shimla (SH;- Renovation/Addition of Type-I Qtrs set No.8 kasumpti Shimla).	99498/-	2000/-	350/-	30 Days	Class-D
7	A/R & M/O to various Type-I to Type-VI Qtrs of GAD at kasumpti Shimla-9 (SH;- Providing and Fixing G-I water pipeline at SDA Complex parking and providing and fixing accessories in various sets under Parimahal section).	94567/-	1900/-	350/-	30 Days	Class-D
28	A/R & M/OI various Type-I to qtrs of GAD at kasumpti Shimla (SH:- providing and fixing tiles in type-III 166 to 171 under kasumpti Section).	97S02/-	1900/-	350/-	30 Days	Class-D

29	A/R & M/O to Type-I to VI Qtrs of Gad at kasumpti Shimla-9 (SH:- Providing and fixing of wood work type-IV set No.58 in kasumpti Shimla (HP).	98294/-	2000/-	350/-	30 Days	Class-D
30	A/R & M/O various type-I to type-VI qtr of GAD at kasumpti Shimla (SH:- Providing and fixing PVC flooring in type-III 165, Type-I-03 fixing accessories in type-III 132 under kasumpti Section).	98323/-	1900/-	350/-	30 Days	Class-D
31	A/R & M/O various Type-III to Type-IV Qtrs of Gad at Parimahal kasumpti Shimla-9 (SH:-Repair work in Bathroom, kitchen and Toilet etc type-III set NO.64 under Parimahal section).	96080/-	1900/-	350/-	30 Days	Class-D
32	A/R & M/O to Type-I to VI Qtrs of GAD at kasumpti Shimla -9 (SH:- Providing and Fixing Cup boards in type-III set nO.142,137 under kasumpti Section).	97073/-	2000/-	350/-	30 Days	Class-D
33	A/R & M/O various Type-I to Type-VI Qtrs of GAD at kasumpti Shimla-9 (SH:- Repair work inkitche, providing and fixing accessories etc in type-III set nO.110 and Type-III 64 under kasumpti Sub Division).	98776/-	2000/-	350/-	30 Days	Class-D
34	Special Repair to Atal institute of Medical super specialties Shimla-6 at Chamayana (SH:- Providing and Fixing Flashing, Base frame work etc on Roof top of Hospital Building over corridor/badminton court portion and repairs to roofing).	99762/-	2000/-	350/-	30 Days	Class-D
35	A/R & M/O to various Residential Building at kasumpti Shimla-9 (SH;- Providing and fixing of PVC flooring in type-IV set nO.40 at kasumpti Shimla-9).	99973/-	2000/-	350/-	30 Days	Class-D

It is certified that the above works are required to be carried out immediately being emergent nature of work in public interest. The tender documents shall be issued only to those contractor/Firm who fulfill the following documents with the application.

- 1. The valid enlistment/Registration of contractor in Appropriate Class.
- 2. Permanent account No. (PAN NO).
- 3. G.\$.T No.
- 4. Earnest Money in the shape of National saving certificate/time deposit account in the any of the post office in HP. F.D.R from any Nationalized Bank duly pleaded in favour of the Executive Engineer Shimla Division No-I HPPWD Shimla.
- 5. The earnest & cost of tender form for the above works should be submitted with the application for the purchase of the tender form . The application received without earnest money & cost of tender form shall summarily be rejected.
- 6. The officer of the tender shall remain valid up to 75 days after the opening of tender.
- 7. Ambiguous/telephonic /conditional tenders or tender by fax/E mail shall not be considered and will be summarily be rejected.
- 8. Executive Engineer reserve the right to reject or cancel any or all tenders without assigning any reasons.
- 9. If the date given above happens to be holiday the same shall be processed on next working day.
- 10. The Contractor/firms must quote their rates in words as well as in figures failing which EXN reserve the right to accept/reject any or all tenders.
- 11. The tender forms shall not be issued to those contractors/firms whose previous performance is not found satisfactory and who have not executed the previous awarded works within the stipulated period of completion.
- 12. One contractor shall not have more than two major works in hand at a time.
- 13. Work should be completed by the contractor within stipulated period.

No.PW-SD-I/CB-Tender/2025-2026- 4960-71 Copy forwarded to :-

- 1. Copy to the Deputy Commissioner Shimla Distt. Shimla.
- 2. Copy to the Executive Engineer Shimla Division No-III HPPWD Shimla.
- 3. Copy to the Sub Divisional Magistrate (U) Shimla.
- 4. Copy to the Sub Divisional Magistrate (R) Shimla.
- 5. Copy to Municipal committee Shimla Distt. Shimla.
- 6. Copy to Block Development officer Mashobra Dsitt. Shimla.
- 7. All the Assistant Engineers under this Division, HPPWD Shimla-3.
- 8. Superintendent / HDM /DAO.
- 9. Notice Board.

Executive Engineer, Shimla Division No-I., HPPWD.,Shimla-3.

Dated : 26 6 25

Executive Engineer, Shimla Division No-I., HPPWO Shimla.

Гeп	SCHEDULE OF der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., S	QUANTIT	ГУ		Estimated Cost:-96032=	-	
Vа	me of Work :-A/R & M/O various Residential Building at 1 to VI qtrs at Me	hi Chi	la (CIT				
ייי	oviding and fixing kitchen accessories curtain rod, and main hole set No	որ շատ	и. (эд:		Earnest Money :1900=00	<u> </u>	
F	Balance work)	type - v	lat M	ehli Shimla	Time:- One Month.	_	
`	The state of the s				<u> </u>		
No.		No.of Qty.		Estimated R		Unit	Amount
	<u> </u>			In figures	In words		
	Chequerred precast cement concrete tiles 20 mm thick in footpath & courtyard, jointed with neat cement slurry mixed with pigment to match the shade of tiles, including rubbing and cleaning etc complete, on 20 mm thick bed of cement mortar 1:4 (One cement: Four coarse sand)including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(i)Light shade pigment using white cement.	10.40	Sqm	1050.00	Rupees One Thousand Fifty Only	Per Square Metre	10920.00
2	Construction of man hole size 50x50x75 cm inside in brick work in cm 1:4 (i) with common burnt clay FPS (Non modular) including carriage of materials in all leads and lifts	2.00	Nos	7500.00	Rupees Seven	Each	15000.00
	as per directions of the Engineer-in-Charge.				Thousand Five Hundred Only		
3	Providing and fixing stainless steel curtain rod including carriage of mateirals in all leads and lifts as per directions of the Engineer-m-Charge.	27.00	Rmt	275.00	Rupees Two Hundred Seventy Five Only	Per Running Metre	7425.00
4	Providing and fixing stainless Litchi trim double curtain system including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge.	26.00	Nos	500.00	Rupees Five Hundred Only	Each	13000.00
5	Providing and fixing SS wall to wall finial for curtain rod including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge.	20.00	Nos	150.00	Rupees One Hundred Fifty Only	Each	3000.00
6	Providing and fixing SS finial for curtain rod including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge.	24.00	Nos	120.00	Rupees One Hundred Twenty Only	Each	2880.00
7	Providing and fixing SSC DISH Rock henc including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge.	2.00	Nos		Rupees Two Thousand Five Hundred Only	Each	5000.00
8	Providing CPC Cross pipe cutlery including carriage of materials in all as per directions of the Engineer-in-Charge. leads	2.00	Nos	3000.00	Rupees Three Thousand Only	Each	6000.00

~	to the second se					•	
9	Steel work welded in built up sections, and framed work including cutting hoisting fixing in position and applying a priming coat of red lead paint including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) In beams joists channels, angles, tee, flats with connecting plates or angle cleats as in main and cross beams, hip and jack rafters, purlins connected to common rafters and the like.		Kgs	37.00	Rupees Thirty Seven Only	Per Kilo- gram.	7400.00
10	Removing dry or oil bound distemper, water proofing cement paint and the like by scraping and sand papering the wall surface smooth including necessary repairs to scratches complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	59.95	Sqm	10.00	Rupees Ten Only	Per Square Metre	600.00
11	Applying Birla white wall care putty over plaster surface after thoroughly brushing the surface free from mortar drops, dust, loose materials and other foreign matters sand papered smooth to give final matter finish to the surface complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	59.95	Sqm	55.00	Rupees Fifty Five Only	Per Square Metre	3297.00
	Distempering with oil bound washable distemper of approved brand and manufacture and of required shade on undecorated wall surfaces to give an even shade. Old work (one or more coats), including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	59.95	Sqm	55.00	Rupees Fifty Five Only	Per Square Metre	3297.00
	Painting one coats(excluding priming coat) on previously painted wood and wood based surfaces with enamel paint brushing to give an even shade including cleaning the surface of all dirt, dust and other foreign matters sand papering and stopping. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) With white enamel paint	50.00	Sqm	65.00	Rupees Sixty Five Only	Per Square Metre	3250.00
	Providing and fixing vitreous china wash down water closet (European type W.C. pan) with integral P or S trap including jointing the trap with soil pipe in cement mortar 1:1 (One cement:one sand) (seat and cover to be measured and paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Ordinary closet.	1.00	Nos		Rupees Two Thousand Six Hundred Twenty Only	Each	2620.00

15	Providing and fixing C.P Jet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	350.00	Rupees Three Hundred Fifty Only	Each	350.00
16	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm(three hundred into three hundred milimetre) or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in colours White, Ivory, Grey, Fume Red Brown, laid on 20 mm (twenty milimetre)thick cement mortar 1:4 (one Cement: four Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including grouting the joints with white cement and matching pigments etc., complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	10.52	Sqin	1140.00	Rupees One Thousand One Hundred Forty Only	Per Square Metre	11993.00
	Quated rates Percentage in figures		-	<u> </u>		Tatal	06072.00
	Quoted rates Percentage in words					Total	96032.00
saw		F15 No.	465	6 -56 j)+- 23-%-25	G.Total	_ Q8,9131 ₌

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer

Shimla Division No.I, HP PWD Shimla-3.

Cen	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION NO-I, H.P.	JANTI	ΓY				
11.	OF OURSE A/K & M/U to various Type I to Type VI Od Occ	1.1	~	3.	Estimated 6	Cost:- 96,	973.00
		AD at K	kasumpi	ti Shimla-9	Earnest Mo	ney :- 1,9	900.00
	Description of Work / Item (S)	No.of Qt	tion).	D-4' / 1	Time:- One		
No		i `	у.	Estimated		Unit	Amount
l	Providing and fixing 19mm thick water proof commercial board in shelves/shutters box	42.03	· ·	In figures	In words		
2	carriage of materials in all leads and lifts as per the directions of the Engineer-in- Charge.	[Sqin	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Square Meter	56741.0
	Providing and fixing 0.80mm thick coloured or plain lamination sheet (sunmica) on boards/ply wood sheets with approved adhesive and nails etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	12.96	Sqm	850.00	Rupees Eight Hundred Fifty Only	Per Square meter	11016.0
, 	Providing and fixing ply wood lining with butt jointing and nails (frame work and cove fillets to be measured and paid for senerately) in the line.	14.96	Sqm	600.00	Rupees Six	Per Square	8976.0
_	fillets to be measured and paid for separately) including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge. (i) 6mm (six milimetre)thick	•			Hundred Only	Meter	- 8970.0
	Providing and fixing square edges cover fillets (beading) 19mmx6mm(Nineteen milimetre into six milimetre) section i/c mitring at junctions with wood screws and nails complete including carriage of matrials in all leads and lifts as per directions of the Engineer-In-Charge.(i)1st class deodar wood.	48.60	Rmt	65.00	Rupees Sixty Five Only	Per Running Meter	3159.00
	Providing and fixing bright finished brass ball catcher 10 mm dia including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	34.00	·Nos	50.00	Rupees Fifty Only	Each	1700.00
	Providing and fixing bright finished Stainless steel handles with screws etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 125mm	34.00	Nos	150.00	Rupees One Hundred Fifty Only	Each	5100.00
	Providing wood work in frames of false ceiling, partitions etc. sawn and fixed in position with necessary stainless steel screws etc. including carriage of materials in all eads and lifts as per directions of the Engineer-in-Charge.(a) 2nd class Pine wood.	0.035	Cum			Per Cubic Metre	3220.00
6	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth including carriage of materials in all leads as per directions of the Engineer-in-Charge.	42.03	Sqin		Rupees Sixty I	Per Square Meter	2522.00

Quated rates Percentage in figures Quoted rates Percentage in words					Total	96973.00
of the Engineer-in-Charge. Painting two coats(excluding coat) on new wood and wood based surface with enamel paint to give an even shade including cleaning the surface of dirt,dust and other foreign matter,sand papering & stoping including carriage of materials in all leads as per directions of the Engineer-in-Charge.(i) With white enemal paint.	10.00	Sqm	70.00	Rupees Seventy Only	Per Square Meter	2942.00
Applying priming coat over new wood and wood based surfaces after and including prepering the surface by thoroughly cleaning oil, grease, dirt and other foreign matter) sand papering and knotting including carriage of materials in all leads as per directions		Sqm	38.00	Rupees Thirty Eight Only	Per Square Meter	1597.00

TISMO. 4657, 58 D+-23-01-25 Amount = 99, 8821=

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer Shimla Division No.1, HP PWD Shimla 3.

	SCHEDULE OF QUAI	YTITY					
	Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.	P.W.D., SH	IIMLA	-3.	Estimated	Cost:- 65,1	180.00
NA	ME OF WORK:- Improvement of Charabra to Kalyani Helipad road in F	Cm. 0/00	to 1/2	200. (SH:	Farnest Me	mov . 12	00.00
via	intenance of drain, Trimming of grass, White washing etc in Km. 0/00 to 1/200 lyani Helipad).	and Term	inal b	uilding a	Time:- On	e Month	
Sr.	Description of Work / Item (S)	No.of Qty	· .	Estimated	l Rate	Unit	Amount
Νo		``		In figures	In words		
1	White washing two coats on parapets wall and tree trunks including preparation of surface by cleaning scraping etc. as per technical specification clause 1915 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.		Sqm	29.40	Rupees Twenty Nine and Paise Forty Only	Per Square Meter	17905.00
2	Mainteance of drain including erosion, reoair, cleaning, reshaping, regarding, deepening of side drain as well as per Technical specification Clause 1907 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	1200.00	Rmt	4.60	Rupees Four and Paise Sixty Only	Per Running Meter	5520.00
	Trimming of grass and weeds from the shoulders/ berms and disposing off the same to suitable locations as per technical specifications Clause 1914 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	2400.00	Sqm	4.08	Rupees Four and Paise Eight Only	Per Square Meter	9792.00
4-	Finishing wall with weather proof exterior grade emulsion of approved design (Apexultima) or its equalited on undecorated wall surfaces (One or more coats) to give an even shade and final finish after throughly cleaning the surface to remove all dirt, dust and other foreign matter etc including sand paper smooth including carriage of materials in all leads as per directions of the Engineer-in-Charge.	255.70	Sqm	65.00	Rupees Sixty Five Only	Per Square Meter	16621.00
	Applying Birla white wall care putty over plaster surface after thoroughly brushing the surface free from mortar drops, dust, loose materials and other foreign matters sand papered smooth to give final matter finish to the surface complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	255.70	Sqm	60.00	Rupees Sixty Only	Per Square Metre	15342.00
	Overted rates Personal C					Total	65180.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						
				* <u> </u>	 -	G.Total	·

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Shimla Division No.I, HP PWD Shimla-3

	SCHEDULE OF QU	ANTITY					
Tend	er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D.,	SHIMLA-3.			Estimated Co	st:- 99,885	.00
Nam	e of Work :- Improvement of Sadhora to Mohanpur road Km 0/000 to 6/525	. (SH:- Mai	ntenar	ce of drain,	Earnest Mone	ey :- 2, 000.	00
	Cutting, White Washing & Earthern shoulder in Km. 0/000 to 4/500).	•			Time:- One M	lonth.	
Sr.	Description of Work / Item (S)	No.of Qty.		Estimated Ra	ate	Unit	Amount
No				In figures	In words]	
1 N	Mainteance of drain including erosion, reoair, cleaning, reshaping, regarding, deepening of side drain as well as per Technical specification Clause 1907 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	4250.00	Rmt	4.60	Rupees Four and Paise Sixty Only	Per Running Meter	19550.00
	Frimming of grass bushes complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge.	7950.00	Sqm.	4.08	Rupees Four and Paise Eight Only	Per Square Metre	32436.00
s	White washing two coats on parapets wall and tree trunks including preparation of surface by cleaning scraping etc. as per technical specification clause 1915 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-]	Sqm	29.40	Rupees Twenty Nine and Paise Forty Only	Per Square Meter	26754.00
4 [Charge. Maintenance of Earthen Shoulder (Filling with fresh selected soil) Making un loose Material/ Irregullarties on shoulders to the desion level by adding fresh approved slected soil and compacting it with approproese equipment at OMC upto a lead of 1000 metre as per technical specification Clause 1603 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.		Sqm	42.29	Rupees Forty Two and Paise Twenty Nine Only	Per Square Meter	21145.00
						Total	99885.00
	Quated rates Percentage in figures			<u> </u>			·
	Quoted rates Percentage in words		'		-	Ÿ	
		•	1		7.48.04	G.Total	<u> </u>

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.1, HP PWD Shimla-3.

	SCHEDULE OF QU	ANTITY					
Ter	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D.,	SHIMLA-3.			Estimated Co	st:- 99,746	.00
Na	me of Work :- Improvement of Mashobra to Ramnagari road Km 0/000 to	5/300. (SH	:- Maiı	ntenance of	Earnest Mone	ey :- 2,000.	00
	in, Bush Cutting, White Washing in Km. 0/000 to 5/300).	. <u> </u>			Time:- One N	lonth.	,
Sr.	5000 1 (2)	No.of Qty. Est		Estimated Ra	ate	Unit	Amount
No				In figures	In words		
1	Mainteance of drain including erosion, reoair, cleaning, reshaping, regarding, deepening of side drain as well as per Technical specification Clause 1907 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	5200.00	Rmt	4.60	Rupees Four and Paise Sixty Only	Per Running Meter	23920.00
2	Trimming of grass bushes complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge.	10925.00	Sqm.	4.08	Rupees Four and Paise Eight Only	Per Square Metre	44574.00
3	White washing two coats on parapets wall and tree trunks including preparation of surface by cleaning scraping etc. as per technical specification clause 1915 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-		Sqm	29.40	Rupees Twenty Nine and Paise Forty Only	Per Square Meter	31252.00
	Charge.					Total	99746.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words		<u>.</u>		· · · · · · · · · · · · · · · · · · ·	G.Total	

TISNO. 4645-46 D+ = 23-06-25 Amount
= 1,02,738 =

CONDITION:-

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer,
Shimla Division No.l,
HP PWD Shimlar3.

SCHEDULE OF	QUANT	TITY				
Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.	.D., SHIML	.A-3.		Estimated Cost:-9	7663.00	
Name of Work :-A/R &M/O Kasumpti to Basant vihar road km 0/00 to 0)/550 (S	H: - C	/O B/wal	Earnest Money :-	1900.00	
between Rd 0/313 to 0/315.50 under parimahal section)				Time:- One Month	J.	
	No.of Qty.		Estimated R	ate	Unit	Amount
No	· .		In figures	In words		
Cutting in Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm (Thirty centimetre) in depth, 1.5 m (One point five metre) in width as well as 10 sqm (ten Square Metre) on plan) including getting out and disposal of excavated earth all lead and lift as directed by Engineer-in-charge and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site (To be arranged by the contractor) as per satisfaction of Engineer- in -charge through all modes of transportation including head load animal load or mechanical means along with its leveling fine dressing and		Cum	350.00	Rupees Three Hundred Fifty Only	Per Cubic Metre	4858.00
with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required) Any loss to the public and private propriety, human being, machinery during the course of execution and disposal of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including all incidental charges. (i)All kinds of soil.						

Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm (Thirty centimetre) in depth, 1.5 m (One point five metre) in width as well as 10 sqm (ten Square Metre) on plan) including getting out and disposal of excavated earth all lead and lift as directed by Engineer-in-charge and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site (To be arranged by the contractor) as per satisfaction of Engineer- in -charge through all modes of transportation including head load ,animal load or mechanical means along with its leveling fine dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required) Any loss to the public and private propriety, human being, machinery during the course of execution and disposal of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including all incidental charges. (i) Ordinary rock.		Cum	400.00	Rupees Four Hundred Only	Per Cubic Metre	1052.00
Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 1:5:10 (One cement : five coarse sand): ten graded stone aggregate 40 mm(forty milimetre) nominal size) Providing and laying concrete for plain/reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803,1202 and 1203	1.04	Cum	3800.00 5700.00	Rupees Three Thousand Eight Hundred Only Rupees Five Thousand Seven	Per Cubic Metre Per Cubic Meter	3952.00 45657.00
including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Cement Mortar 1:3:6(1cement:3sand:6graded stone agg.20mm nominal size).	15.00	D	10000	Hundred Only		
Providing weapholes in stone masonry /plain reinforced concrete abutment, wing wall, return wall with 100 mm(One hundred milimetre) dia PVC pipe extending through the full with of the structures with slop of 1(v):20(H) towards drawing face complete as per drawing and technical specification clauses 614, 709, 1204.3.7 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	15.00	Rmt		Rupees One Hundred Eighty Only	Per Running meter	2700.00

6	Backfilling behind Retaining / Breast wall, wing wall and return wall complete as per drawings and technical specification clause 1204.3.8 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Granular material.	1.76	Cum	1050.00	Rupees One Thousand Fifty Only	Per Cubic Metre	1848.00
7	Disposal of excavated earth up to site approved by MC up to all leads and lifts as per directions of the Engineer-in-charge.	10.11	Cum	600.00	Rupees Six Hundred Only	Per Cubic Meter	6066.00
8	Square rubble masonry/polygonal rubble masonry(un-coursed/brought to courses) with hard stone of approved quality in foundation and plinth including leveling up with cement concrete 1:6:12 (One cement:Six sand:twelve graded stone aggregate 20mm (twenty milimetre)nominal size) in cement mortar 1:6 (One cement: Six sand) in breast wall and retaining walls including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	4.38	Cum	6000.00	Rupees Six Thousand Only	Per Cubic Metre	26280.00
9	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) Mild steel and Medium Tensile steel bars	50.00	Kgs.	105.00	Rupces One Hundred- Five Only	Per Kilo-gram	5250.00
ash						Total	97663.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						

/s No 1687-88 dated 23-66 35 mounting to Rs. 1,00,5921=

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Cbarge in advance

Executive Engineer, Shimla Division No.I, HP PWD Shimla-3.

SCHEDULE OF QUA Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.V.	LD., SHIMI	LA-3.		Estimated C	ost:- 99,6	88.00
Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA BIVISION NO-1, IM INVITABLE OF SHORE IN THE SHIMLA BIVISION NO-1, IM INVITABLE OF SHORE IN THE SHIMLA BIVISION NO-1, IM INVITABLE OF SHORE IN THE SHIMLA BIVISION NO-1, IM INVITABLE OF SHIMLA BIVISION NO-1, I	i I vau in	Km.	12/375 to	Earnest Moi Time:- One	ney :- 2,00 Month.	00.00
8/925 Under Junga Section for the year 2023-20 w.c.r 07/02-2-2-3-3-3-3-3-3-3-3-3-3-3-3-3-3-3-3-3	No.of Qty		Estimated In figures	Rate In words	Unit	Amount
1 Engagement of 5 Nos. Beldar for any of duties assigned by Junior Engineer unskilled jobs such as earth work, carriage of material cleaning and washing or areas, assisting plumber carpenter etc cutting of grass and other misclenious works assigned by Junior Engineer. (Five Nos. Beldar for One month)	S.	Days	548.00	Rupees Five Hundred Forty Eight Only	Per Days	81104.00 18584.00
2 Engagement of 1Nos. mason for any of duties assigned by Junior Engineer unskilled jobs such as earth work, carriage of material cleaning and washing of areas assisting plumber carpenter etc cutting of grass and other misclenious work assigned by Junior Engineer. (One No. Mason for One month)	' ?	Days	619.48	Rupees Six Hundred Nineteen and Paise Forty Eight Only	rei Days	18384.00
assigned by Junior Engineer. (Charles					Total	99688.00
Quated rates Percentage in figures			<u> </u>			
Quoted rates Percentage in words	 	1			G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.
- 3. Agency has to provide all T&P as required for day to day maintenance of Shoghi Mehli Junga road in Km. 12/375 to 48/925 Under Junga Section & its compus along with safety tools and do take care of all safety measures to the inforstructure, workers, execution of work. Agency has to provide all safety equipments, tools, dress, etc as required for each job work fo maintenance.

Executive Engineer, Shimla Division No.1, HP PWD Shimla-3.

<u> </u>	SCHEDULE OF QUA	NTITY					
114	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W. me of Work: Providing Staff for maintenance of Old Kasumpti Junga rihana Badagaon road and Rajahana Bird Colony road H. J.	and Dai	L	C	Estimated (688.00 000.00
w.e	e.f 01.07.2025 to 31.07.2025).	ion for t	he yea	ır 2025-26	Time:- One	Month.	
No	, •	No.of Qty	7.	Estimated	Rate	Unit	Amount
$\overline{1}$	Engagement of 5 Nos. Beldar for any of duties assigned by Junior Engineer			In figures	In words		
`	unskilled jobs such as earth work, carriage of material cleaning and washing of areas, assisting plumber carpenter etc cutting of grass and other misclenious works assigned by Junior Engineer. (Five Nos. Beldar for One month)		Days	548.00	Rupees Five Hundred Forty Eight Only	Per Days	81104.00
ŀ	Engagement of 1Nos. mason for any of duties assigned by Junior Engineer unskilled jobs such as earth work, carriage of material cleaning and washing of areas, assisting plumber carpenter etc cutting of grass and other misclenious works assigned by Junior Engineer. (One No. Mason for One month)		Days		Rupees Six Hundred Nineteen and Paise Forty Eight Only	Per Days	18584.00
	Quotod votes David C					Total	99688.00
	Quated rates Percentage in figures						22000.00
	Quoted rates Percentage in words						<u> </u>
						G.Total	

- 1. Rates should be quoted for all heights including all leads and lifts.
- 2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.
- 3. Agency has to provide all T&P as required for day to day maintenance of Old Kasumpti Junga road, Rajhana Savi road, Rajhana Badagaon road and Rajahana Bird Colony road Under Junga Section & its compus along with safety tools and do take care of all safety measures to the inforstructure, workers, execution of work. Agency has to provide all safety equipments, tools, dress, etc as required for each job work fo maintenance.

Executive Engineer, Shimla Division No.I, HP PWD Shimla 3.

Amout = 1,02,677/=

Ter	oder Inviting Authority - EVECUMENT SCHEDULE OF QUAN	TITY					
	nder Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.I me of Work:-Improvement of Shimla to Mandi road in Km. 6/00 to 22/000 then Shoulder, Maintenanc of drain, Trimming of grass between Rd. 15/00 to 1	P.P.W.D.,	SHIM! ainten	LA-3. ance of	Estimated C Earnest Mo Time:- One	ney :- 2	00.00
No		No.of Qt	y.	Estima	ted Rate	Unit	Amount
	Maintenance of Earthen Shoulder (Filling with fresh selected soil) Making un loose Material/ Irregullarties on shoulders to the desion level by adding fresh approved slected soil and compacting it with approproese equipment at OMC upto a lead of 1000 metre as per technical specification Clause 1603 including carriage of materials in all leads and lifts as the directions of the Engineer-in-Charge.	1620.00	Sqm	In 42.29	In words Rupees Forty Two and Paise Twenty Nine Only	Per Cubic Metre	68510.00
- 1	Mainteance of drain including erosion, reoair, cleaning, reshaping, regarding, deepening of side drain as well as per Technical specification Clause 1907 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	3000.00	Rmt	4.60	Rupees Four and Paise Sixty Only	Per Runnin	13800.00
- 1	Trimming of grass and weeds from the shoulders/ berms and disposing off the same to suitable locations as per technical specifications Clause 1914 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	4200.00	Sqm		Rupees Four and Paise Eight Only	Per Square Meter	17136.00
	Quated rates Percentage in figures					Total	99446.00
1	Quoted rates Percentage in words					G.Total	

TISNO. 4649-50 D+-23-06-25 Amount =

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engined, Shimla Division No.1, HP PWD Shimla-3.

Ea	ender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.J. are of Work: Improvement of Shimla to Mandi road in Km. 6/00 to 22/000 orthen Shoulder, Maintenanc of drain, Trimming of grass between Rd. 18/00 to 2	(SH:- M	ainten	ance of	Estimated Earnest Mo	oney :- 2	000.00
_	Description of Work / Item (S)		•		Time:- One	Month.	
No		No.of Qt	y.	Estima	ted Rate	Unit	Amount
. 1	Maintenance of Earthen Shoulder (Filling with fresh selected soil) Making un loose. Material/Irregullarties on shoulders to the design level to t			In figures	In words		7 IIIOUIIL
2	and compacting it with approproese equipment at OMC upto a lead of 1000 metre as per technical specification Clause 1603 including carriage of materials in all leads and lifts as Mainteance of drain including erosion, received.	1380.00	Sqm	7	Rupees Forty Two and Paise Twenty Nine Only	Cubic	58360.00
	side drain as well as per Technical specification Clause 1907 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	3700.00	Rmt		Rupees Four and Paise	Per Runnin	17020.00
3	Trimming of grass and weeds from the death of the death o				Sixty Only	g Meter	
	in all leads and lifts as per directions of the Engineer-in-Charge.	6000.00	Sqm	1	Rupees Four and Paise Eight Only	Per Square Meter	24480.00
19	Quated rates Percentage in figures					Total	99860.00
_(Quoted rates Percentage in words		 -				>>000.00
	CONDITION:-			1657-		G.Total	-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engine Shimla Division No.I. HP PWD Shingla

SCHEDULE OF QU	ANTITY					
Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D.,	SHIMLA-3.		<u> </u>	Estimated Co		
Name of Work :- Preparation of Detailed Project Report of Construction of Kemi	u ka Khet to	o Binku	ti road. Km	Earnest Mon	ey :- 2,000.0	00
0/00 to 2/315 under Junga Sub Division in Distt. Shimla (H.P)			<u> </u>	Time:- One I	VIOITIII.	
Sr. Description of Work / Item (S)	No.of Qty.	No.of Qty.		ate	Unit	Amount
No			In figures	In words		
Preparation of Detailed Project Report of which includes following provision as mentioned below: i) Topography survey by digital total station with two second accuracy showing all features on survey plan like trees, culverts, bridges, electric poles, telephone poles, hand pumps, school, Habitants villages etc. ii) Draw cross-sections at 15m intervals, L-sections and calculate the quantity of earthwork in standard format of autocad showing all layers of pavement components as applicable. iii) Preparation of survey plan showing all details as per MORD guidelines and specifications. If any correction/amendment will be desired by the office the same may be corrected as desired and directed by the Engineer-In-Charge complete in all respect. After approval of the same from the head office the same should be submitted in three fair copies and soft copy as per the requirement of this office and upto entire satisfaction of Engineer-In-Charge including all type of incidental charges.	4	Per Km	35000.00	Rupees Thirty Five Thousand Only	Pe Kilometre	81025.00
CBR test including gain size analysis, atterbergs limit, proctor compaction and CBR value upto the entire satisfaction of Engineer-In-Charge including all type of incidental charges.	6	Per Samp	3000.00	Rupees Three Thousand Only	Per Sample Total	18000.00
					Total	
						+
Quated rates Percentage in figures				 		
Quoted rates Percentage in words	<u> </u>	2		-	G.Total	<u> </u>
	<u> </u>		4641-4	<u> </u>		Amountal

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.l,

HP PWD Shimla-3.

T	SCHEDULE OF QU	ANTIT	Y				
eı	nder Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P	.P.W.D., S	HIMLA	3.	Estimate	d Cost	- 99,750.00
ıa 	me of Work :- Restoration of Rain Damages on various roads under	Janedgha	at Sec	tion. (SH:	Earnest I	Vioney	- 2,000.00
III	ing of Excavator cum loader for removal of slips in various RDs).				Time:- O		
Sr.	Description of Work / Item (S)	No.of Qty		Estimated	Rate	Unit	Amount
Vo				In figures	In words	1	
1	Hiring of JCB excavator-cum-loader (JCB) including P.O.L charges, machinery of any minor or major accidents and other damages to private and Govt. property occur during working hour is the whole responsibilty of contractor, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock hard rock including their intermediate classification of soil including mechanical transportation of necessary. Removal of slips, Debries with minimum capacity of 45.00 Cum. Per Hour, Minium Six hours per day. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materialls such quarried stone shall belong to the department and maximum usefull quantities of stone from removal of slips shall have to be neatly		Hour	1050.00	Rupees One Thousand Fifty Only	Per Hours	99750.00
	stacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.						
						Total	99750.00

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4.Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Executive Engineer, Shimla Division No. I,
HP PWD Shimla-3

	SCHEDULE OF QU	ANTIT	$\overline{\mathbf{Y}}^{-}$				
Ter	der Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.	P.W.D., S	HIMLA	N-3.	Estimate	d Cost	- 99,750.00
Naı	me of Work :- Restoration of Rain Damages on various roads und	er Junga	Sect	tion. (SH:-	Earnest I	Vioney :	- 2.000.00
пп	ing of Excavator cum loader for removal of slips in various RDs).			• • •	Time:- O		
Sr.	1 work them (b)	No.of Qty		Estimated		Unit	Amount
No				In figures	In words	1	
	Hiring of JCB excavator-cum-loader (JCB) including P.O.L charges, machinery of any minor or major accidents and other damages to private and Govt. property occur during working hour is the whole responsibility of contractor, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock hard rock including their intermediate classification of soil including mechanical transportation of necessary. Removal of slips, Debries with minimum capacity of 45.00 Cum. Per Hour, Minium Six hours per day. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materialls such quarried stone shall belong to the	95.00	Hour	1050.00	Rupees One Thousand Fifty Only	Per Hours	99750.00
	department and maximun usefull quantities of stone from removal of slips shall have to be neatly stacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.						
		21 (210 =				Total	99750.00

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4. Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Shimla Division No. I, HP PWD Shimla-3.

SCHEDULE OF QU	A NUTUTO	X 7				
Tender inviting Authority: EXECUTIVE ENGINEER SHIMI A DIVISION NO. 1 H. B.	DIM D		\-3.	Estimate	d Cost	:- 99,750.00
Name of Work :- Restoration of Rain Damages on various roads under diring of Excavator cum loader for removal of slips in various RDs).	Challand	la Sec	tion. (SH:	- Earnest	Money	:- 2,000.00
Description of Work / Item (S)	No.of Qty	·.	Estimated	Time:- C	ne Mor Unit	nth Amount
1 Hiring of JCB excavator-cum-loader (JCB) including P.O.L charges machines of	0.7.0.2	T	In figures	In words		intount
major accidents and other damages to private and Govt. property occur during working hour is the whole responsibilty of contractor, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock hard rock including their intermediate classification of soil including mechanical transportation of necessary. Removal of slips, Debries with minimum capacity of 45.00 Cum. Per Hour, Minium Six hours per day. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took place, the contractor is liable for it. All salvaged materialls such quarried stone shall belong to the department and maximum usefull quantities of stone from removal of slips shall have to be neatly		Hour	1050.00	Rupees One Thousand Fifty Only	Per Hours	99750.00
stacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. Minimum 150.00 cubic metre of removal of slips and 300.00 cubic metre removal of snow shall be done by the machine in one hour, other wise number of hour shall be reduced accordingly. The work shall have to be carried out as per Ministry of Transport as per instructions/ direction of the Engineer-in-Charge.		e de la companya de l				
					Total	99750.00

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair/maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4.Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Executive Engineer.

Shimla Division No. I,
HP PWD Shimla-3.

	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P. ne of Work: Restoration of Rain Damages on various roads und ng of Excavator cum loader for removal of slips in various RDs).	er Beoli	a Sec	tion. (SH:	Earnest	a Cost Monev	- 99,750.00
ьг.	Dogovintia - CIV 1 (7	_			Time:- C	ne Mor	1th
1 1	Hiring of JCB excavator-cum-loader (ICB), including B.O.L.	No.of Qty 95.00	/.	Estimated In figures 1050.00	Rate In words Rupees One	Unit	Amount
t a s h c s	the whole responsibility of contractor, shifting charges and other anciliary equipments as required at site of work for removal of slips/snow in all heights in all kind of soil such as kankar, mooram shingle, boulders decomposed or soft variety of soil such as spade work, jumper work, soft rock pard rock including their intermediate classification of soil including mechanical transportation of necessary. Removal of slips, Debries with minimum capacity of 45.00 Cum. Per Hour, Minium six hours per day. The disposal of this un-serviceable materials has to be done in the required width of the road to avoid damaged to the properties of the people or in case any damage took lace, the contractor is liable for it.				Thousand Fifty Only	Per Hours	99750.00
St N bo	epartment and maximun usefull quantities of stone from removal of slips shall have to be neatly tacked along road side on road burms, minium 30.00 Cubic metre of cutting earth work. It is a considerable to the machine in one hour, other wise number of hour shall be reduced accordingly. If the Engineer-in-Charge.	-	- Address many			·	

- 1. All the P.O.L. Charges shall be borne by the contractor.
- 2. All the repair /maintenance of machineries shall be borne by the contractor.
- 3. For any minor /Major repair or any accident /damaged shall be the whole responsibility of contractor.
- 4. Any damages or loss to Govt./Private property during course of work shall have to be make good by the contractor.

Executive Engineer,
Shimla Division No. I,
HP PWD Shimla-3.

	SCHEDULE OF C	QUANTITY	,	_			
	EXECUTIVE ENGINEED SHIMI A DIVISION No-I, H.P.P.W.D., SE	⊔МLА-3.			Estimated Cost:-9624		
end	of Work: - A/R & M/O various Type -I to type VI qtr of GAD at Kasumpti Shimla (S	H:- Provid	ling Whi	te washing /	Earnest Money :-190	0=00	
lame Dister	of Work: A/R & M/O various Type -1 to type v1 q11 of GAD at Rasumpti Shabba (someting in out house No 3,4,5 and repair of roof in Type - III -165 under Kasumpti second	ction)	J		Time:- One Month.		<u> </u>
		No.of Qty.		Estimated Ra	ate	Unit	Amount
	Description of Work / Item (S)			In figures	In words		
	Steel work welded built up sections / framed work including cutting hoisting, fixing in position and applying a priming cost of approved stel primer using structutal steel etc as required (i) in stringers, treads landing etc of stair cases including use of chequered plate wherever required all complete as per directions of the Engineer-in-Charge	62.27	Кg	105.00	Rupees One Hundred Five Only	Per Kilo gram	6538.35
_	20 151 is the common burnt clay E.P.S. (non-modular) bricks of class designation 7.5	5.61	Sqm	1020.00	F	Per Square Metre	5722.00
	in superstructure above plinth level up to floor V level. Ceinent mortar 1.4 (one ceinem notar coarse sqm sand) including carriage of materials in all leads and lifts as per directions of the	(00.00	Sqm	12.00	Only Rupees Twelve Only	Per Square Metre	7200.00
3	Engineer-in-Charge. Removing dry or oil bound distemper, water proofing cement paint and the like by scraping and sand papering the wall surface smooth including necessary repairs to scratches complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	600.00	Sqm	12.00	Rupos 1 mars 2 = 3		
4	Applying Birla white wall care putty over plaster surface after thoroughly brushing the surface free from mortar drops, dust, loose materials and other foreign matters sand papered smooth to give final matter finish to the surface complete including carriage of materials in all leads and lifts as	300.00	300	55.00	Rupees Fifty Five Only	Per Square Metre	16500.00
5	per directions of the Engineer-in-Charge. Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge. (i) One or more coats on old work	250.00	Sqm	70.00	Rupees Seventy Only		17500.00
6	Finishing wall with weather proof exterior grade emulsion of approved design Apexultima) or its equarlied on undecorated wall surfaces (two coats) to give an even shade and final finish after throughly cleaning the surface to remove all dirt, dust and other foreign matter etc including sand paper smooth including carriage of materials in all leads as per directions of the Engineer-in-	il	Sqm	75.00	Rupees Seventy Five Only		22500.00
7	Charge. 15mm cement plaster in single coat on rough side of brick/ concrete /stone walls for interior plastering up to all floor level /heights i/c arises internal rounded angles, chamfers and / or rounded angles not exceeding 80mm in girth and finished even and smooth including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Cement mortar 1:6(One cement, six sand).	5.61 1	Sqm.	270.00	Rupees Two Hundre Seventy Only	d Per Square Metre	1515.00

8	supplying and fixing welded mesh 225x25x3mm to wood or steel members in partitions etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	4.21	Sqm	650.00	Rupees Six Hundred Fifty Only	Per square metre	2737.00
9	Providing corrugated G.S. sheet roofing including vertical / curved surface fixed with polymer coated J or L hooks, bolts and nuts 8 mm diameter with bitumen and G.I. limpet washers or with G.I. limpet washers filled with white lead, including a coat of approved steel primer and two coats of approved paint on overlapping of sheets complete (up to any pitch in horizontal/ vertical or curved surfaces), excluding the cost of purlins, rafters and trusses and including cutting to size and shape wherever required including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 0.63 mm thick sheet make TATA	9.80	Sqm	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Square Meter	13230.00
10	Wall painting (One coat) with plastic emulsion paint of approved brand and manufacture on undecorated wall surfaces to give an even shade including thoroughly brushing the surface free from mortar droppings and other foreign matter and sand papered smooth including applying of	20.00	Sqm	70.00	Rupees Seventy Only	Per Square Metre	1400.00
	putty as required for making the surface including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.						
111	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge. (i) One or more coats on old work Quated rates Percentage in figures	20.00	Sqin	70.00	Rupees Seventy Only	Per Square Meter	1400.00
vi	Quoted rates Percentage in words					G.Total	96242.35

T/s No. 4695 - 86 dated 29-66-25 Amounting to Rs. 99, 1301 -

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer

Shimla Division No.1,

HP PWD shimla-3

	SCHEDULE OF	D CHIMIL	۵_3	T	Estimated Cost:-991	20.00	
enc	ler Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.	Kasumnti	Shimla	- 9 (SH:-	Earnest Money :- 20	00.00	
ame rovi	ler Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION NO-1, H.P.P.W. of Work: A/R & M/O various Type - I TO Type - VI GAD Residential qtrs at ding and fixing polycarbonate in type VI set no 2 & type - IV set No 58 and steel mpti shimla -9)	work in ty	pe IV s	et No 58 in	Time:- One Month.		·
asu		No.of Qty.		Estimated Ra	te -	Unit	Amount
Sr.	Description of Work / Item (S)	10.01 Qty.			In words	•	
, I		20.00	Nos			Each	1500.00
1	Providing and fixing magnetic Catchers ISI marked with necessary screws etc complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	30.00	1405	30.00		· ·	
2	Polishing two coats with P.U. polish of required shade on new wood and wood based surfaces to	39.84	Sqm	325.00	Rupees Three Hundred Twenty Five Only	Per Square Meter	12948.00
	give an even surface including cleaning the surface of an all leads and lifts as per the including a coat of wood filler including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.					Day Cayora Mater	11554.00
3	Applying scalar on wood and wood based surfaces to given an even surfaces including cleaning the surfaces of all dirt, dust and sand papering so as to produce a smooth dry and matt surface including stopping & knotting including carriage of materials in all leads and lifts as per the	39.84	Sqm	290.00	Rupees Two Hundred Ninety Only	Per Square Meter	11334.00
4	directions of the Engineer-in-Charge. Providing and laying Granite work (table rubbed and polished) with semi round nosing in flooring laid over 20mm (Twenty milimetres) thick base in 1:3 (One cement: three sand) including jointed with cement mortar 1:2 (one white cement: two marble dust) with an admixture of pigment to match the shade of marble 20mm (Twenty milimetres) thick Green marble with including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	4.10	Sqm	5500.00	Rupees Five Thousand Five Hundred Only	Per Square Metre	22550.00
4	Extra for making moulded nosing in terrazzo including returned ends and angles to moulding including carriage of materials in all leads and lifts.	18.54	Rmt	250.00	Rupees Two Hundred Fifty Only		
5		-1	Kgs	115.00	Rupees One Hundred Fifteen Only	Per KilogramMetre	11085.0

	6	Provdiing and fixing C.G.I corrugated polycarbonated sheet 2.00mm thick including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	14.52	Sqm.	2 1,00.00	Rupees Two Thousand Four Hundred Only	Per Square Meue	34848.00	-
	1_ 3		<u> </u>				Total	99120.00	
	bd	Quated rates Percentage in figures							مسا
Ì		Onoted rates Percentage in words			1110	2-84 Dt-23	-66-25 A mou	M soRs. 1,0	2,0931-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer, Shimla Division No.I,

HP PWD Shimla-3.

	SCHEDULE OF	UMLA-3.			Estimated Cost: -9825	5=00		
Tend	r Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., SI				Fornest Money :-1900)=00		
· · · · · ·	The type VI gtr of GAD at Kasumpti S	shimia (Si	H:- Pro	viding and	Time:- One Month.			
fixin	e of Work :- A/R & M/O various Type -1 to type VI qui of G/ID at least the of G/ID and repair work in O/O Electrial division under Kasum	oti section	,				Amount	
		No.of Qty.		Estimated Ra		Unit	Amount	
Sr.	Description of Work / Item (S)				In words		5635.00	
No	of language including disposal of	4.90	Cum	1150.00	Rupees One	Per Cubic Metre	3033.00	
	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i)Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)				Thousand One Hundred Fifty Only			
					Tig. Oalu	Per Square Meter	280.00	
	t was loid in cement mortar including stacking	5.60	Sqm-	50.00	Rupees Fifty Only	Pel Square Meter	200.00	
2	Dismantling tiles work in floors and roofs laid in cement mortar including stacking material within 50 metres lead including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)For thickness of tiles 10 mm to 25 mm							
	Providing and laying in position cement concrete of specified grade including the cost of	f 0.95	Cum	4500.00	Rupees Four Thousand Five	Per Cubic Metre	4275.0	
3	Providing and laying in position cement concrete of specified grace arriage of materials in centering and shuttering - All work up to plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)1:5:10)one cement sandcoarse sand): 10graded stone aggregate 20 mm (twenty milimetre) nominal size)				Hundred Only			
					D Pier	Per Cubic Metro	26460	
4	Providing and laying concrete for plain/reinforced concrete in open foundation complete as per drawing and technical specification clauses 802,803,1202 and 120 including carriage of materials in all leads and lifts as per directions of the Engineer-in Charge.(a) Cement Mortar 1:3:6(One cement:Four sand:Eight graded stone aggregation 20mm(Twenty milimetre) nominal size).	n-	Curr	5400.00	Rupees Five Thousand Four Hundred Only	rei Cubic Medi	20.000	

5	11	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, aid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	Sqm	Rupees One Thousand One Hundred Fifty Only	Per Square Meter	61605.50	
-		Quated rates Percentage in figures		<u> </u>	G.Total	98255.50	1
,	/1S	Quoted rates Percentage in words		 1	G.Total	215	_

T/s No 4681-82 dated 23-66-25Amounting to Rs. 1, 61,263

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engine Shimla Division No.I,

HP PWD Samla3.

	SCHEDULE OF	QUANTITY					
	er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., SI	HMLA-3.			Estimated Cost:-99090=06		
ende	r Inviting Authority: EXECUTIVE ENGINEER SHIPLEY STREET Shiple (SH:	Painting	and		Earnest Money :-2000=00		
am	e of Work: - A/R & M/O various residential at Kasumpti Shimla (SH:	1 411			Time:- One Month.		
iste	e of Work: A/R& WI/O Various residentian / on due kasumpti Shimla	•					
	·	No.of Qty.		Estimated R	ate	Unit	Amount
Sr. D	Description of Work / Item (S)	No.01 Qty.		In figures	In words		
т.			C	55.00	Rupees Fifty Five Only	Per Square Metre	28570.00
1	Distempering with oil bound washable distemper of approved brand and manufacture and of required shade on undecorated wall surfaces to give an even shade. Old work (one or more coats), including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	519.45	Sqm	55.00			22001.00
2	Wall painting (One coat) with plastic emulsion paint of approved brand and manufacture on undecorated wall surfaces to give an even shade including thoroughly brushing the surface free from mortar droppings and other foreign matter and sand papered smooth including applying of putty as required for making the surface including carriage of materials in all leads and lifts as per	305.08	Sqm	75.00	Rupees Seventy Five Only	Per Square Metre	22881.00
	directions of the Engineer-in-Charge.			12.00	Rupees Twelve Only	Per Square Metre	4947.00
3	Removing dry or oil bound distemper, water proofing cement paint and the like by scraping and sand papering the wall surface smooth including necessary repairs to scratches complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	412.27	Sqm	12.00	Rupees Twelve out		
4	Applying Birla white wall care putty over plaster surface after thoroughly brushing the surface free from mortar drops, dust, loose materials and other foreign matters sand papered smooth to give final matter finish to the surface complete including carriage of materials in all leads and lifts as	1	Sqm	55.00	Rupees Fifty Five Only	Per Square Metre	7641.00
5	per directions of the Engineer-in-Charge. Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including carriage of materials in all leads and lifts as per the directions of the colour to give an even shade including the colour to give a	376.93	Sqm	70.00	Rupees Seventy Only	Per Square Meter	26385.00
6	the Engineer-in-Charge. (i) One or more coats on old work Finishing wall with weather proof exterior grade enulsion of approved design Apexultima) or it equarlied on undecorated wall surfaces (two coats) to give an even shade and final finish after throughly cleaning the surface to remove all dirt, dust and other foreign matter etc including sampaper smooth including carriage of materials in all leads as per directions of the Engineer-in	s 100.00 r	Sqm	75.00	Rupees Seventy Five Only	Per Square Meter	7500.00
7	Paper smooth including carriage of materials in all leads as per directions of the Engineer-in-Charge. Repair to plaster in patches of 2.50 square meter under and upto 10 to 15mm thick including cutting the patch in proper shape and re-plastering the surface of wall including disposal to the dumping ground with a lead of 20 metres with including carriage of mateirals in all leads and lift as per directions of the Engineer-in-Charge. (i) Cement Mortar 1:5(One cement: Five sand).	g 1.44	Sqm	280.00	Rupees Two Hundred Eighty Only	Per Square Mete	403.00

[{	Providing and fixing chicken mesh in wall with wood screws and nails including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.44	Sqm Sqm.		Rupees Two Hundred Fifty Only Rupees Two Hundred	Per Square Metre Per Square Metre	403.00	
-	materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) cement mortar 1:5 materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) cement mortar 1:5 (One cement: Five sand).	1.44			Eighty Only	Total	99090.00	
	Quated rates Percentage in figures Quoted rates Percentage in words Kol	TISMO.	4679	-80 V4	23-6 25 A	G.Total	-, «63)=	}

1. Rates should be quoted for all heights including all leads and lifts.

-2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engines

Shimla Division No:I,

HP PWD/Shimla-3.

	SCHEDULE OF	QUANTIT	Y					
Ten	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., S	SHIMLA-3.			Estimated Cost:-9	9985=(00	•
Nai	me of Work:- A/R & M/O TO Type - VI qtrs at Melhi Shimla (SH:_ P	roviding	and fix	king cup	Earnest Money :-2	2000=0	0	·
boa	rd &^ Bed Box in set No 17- VI at Melhi Shimla				Time:- One Montl	h,		
C-	Description of Work / Item (S)	Na acos		Estimated F	D-4-		ly r	1
No	Description of work/ item (3)	No.of Qty.		In figures	In words		Unit	Amount
	Providing and fixing 19 mm thick HDMR laminated water proof commercial board in shelves/box for cup board with butt joints & fixing with nails & screws etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.							
	(ii) 19mm thick	44.30	Sqm	2257.00	Rs Two thousan hundred sifty sever		Per Square meter	99985.10
			<u> </u>					
	Quated rates Percentage in figures						Total	99985.10
	Quoted rates Percentage in words							
bd							G.Total	

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer Shimla Division No.I,

HP PWD Shimla-3.

SCHEDULE OF	QUANTIT	Y				
ender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., SI	HIMLA-3.			Estimated Cost:-99116=		
ame of Work :- A/R & M/O various Type - I TO Type - VI GAD Residential qtrs at	Kasumpti	Shimla	- 9 (SH:-	Earnest Money :-2000=0	00	
roviding and laying sewer line in Type-II Block No 28 New shimla under Kasumpti secti	ion))		•	Time:- One Month.		
	No.of Qty.		Estimated Ra	ate	Unit	Amount
No			In figures	In words		
Providing and fixing high pressure PVC spigot and socket, waste and ventilating pipes ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	10.00	Rmt	300.00	Rupees Three Hundred Only	Per Running Meter	3000.00
(i) 90 mm dia.	10.00	Rmt	375.00	Rupees Three Hundred	Per Running Meter	3750.00
(iii) 150mm	10.00	Rmt	550.00	Seventy Five Only Rupees Five Hundred Fifty Only	Per Running Meter	5500.00
Providing and fixing PVC single equal branch plain ISI marked including fixing with approved adhesive etc. complete. (i) 90 mm dia. 	2.00	Nos.	220.00	Rupees Two Hundred Twenty Only	Each	440.00
(ii) 110 mm dia	2.00	Nos.	275.00	Rupees Two Hundred Seventy Five Only	Each	550.00
(iii) 150mm	2.00	Nos.	500.00	Rupees Five Hundred Only		1000.00
Providing and fixing PVC collars ISI marked including fixing with approved adhesive etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 90 mm dia.	5.00	Nos.	220.00	Rupees Two Hundred Twenty Only	Each	1100.00
(ii)110mm	5.00	Nos.	285.00	Rupees Two Hundred Eighty Five Only	Each	1425.00
(iii) 150mm	5.00	Nos.	350.00	Rupees Three Hundred Fifty Only	Each	1750.00
Providing and fixing PVC plain bend ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 90 mm dia.	2.00	Nos.	275.00	Rupees Two Hundred Seventy Five Only	Each	550.00
(ii110mm dia	2.00	Nos.	325.00	Rupees Three Hundred Twenty Five Only	Each	650.00
(iii) 150mm	2.00	Nos.	500.00	Rupecs Five Hundred Only		1000.00

5	Providing and fixing PVC door bend with oval access door, insertion rubber washer 3 mm thick bolts and nuts ISI marked complete including fixing with approved adhesive etc. including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) 90 mm dia.	2.00	Nos.	200.00	Rupees Two Hundred Only	Each	400.00
	(ii) 110 mm dia.	2.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	500.00
	(iii) 150mm dia.	2.00	Nos.	500.00	Rupees Five Hundred Only	Each	1000.00
6	Providing and fixing PVC offset 45 degree ISI marked including with approved adhesive etc complete including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) 90 mm dia.	2.00	Nos.	200.00	Rupees Two Hundred Only	Each	400,00
	(ii) 110 mm dia.	2.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	500.00
	(iii) 150mm dia.	2.00	Nos.	325.00	Rupees Three Hundred Twenty Five Only	Each	650.00
7	Dismantling tiled floors laid in mortar upto all floor two level including stacking of serviceable materials and disposal of un-serviceable materials with in 20 mtrs. (Twenty metres) lead including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) For thickness of tiles upto 25mm(Twenty milimetre)	15.00	Sqm	50.00	Rupees Fifty Only	Per Square Metre	750.00
8	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm (Thirty centimetre) in depth, 1.5 m (One point five metre) in width as well as 10 sqm (ten Square Metre) on plan) including getting out and disposal of excavated earth all lead and lift as directed by Engineer-in-charge and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site (To be arranged by the contractor) as per satisfaction of Engineer- in -charge through all modes of transportation including head load animal load or mechanical means along with its leveling fine dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required) Any loss to the public and private propriety, human being, machinery during the course of execution and disposal of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including all incidental charges. (i)All kinds of soil.	16.44	Cum	400.00	Rupees Four Hundred Only	Per Cubic Metre	6576.00

9	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i)Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	1.50	Cum	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Cubic Metre	1725.00
10	Providing and laying concrete for plain/reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803,1202 and 1203 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(a) Cement Mortar 1:3:6(One cement:Four sand:Eight graded stone aggregate 20mm(Twenty milimetre) nominal size).	1.50	Cum	5600.00	Rupees Five Thousand Six Hundred Only	Per Cubic Metre	8400.00
11	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 1:5:10 (One cement: five coarse sand): ten graded stone aggregate 40 mm(forty milimetre) nominal size)	1.50	Cum	3800.00	Rupees Three Thousand Eight Hundred Only	Per Cubic Metre	5700.00
12	Chequerred precast cement concrete tiles 20 mm thick in footpath & courtyard, jointed with neat cement slurry mixed with pigment to match the shade of tiles, including rubbing and cleaning etc complete, on 20 mm thick bed of cement mortar 1:4 (One cement: Four coarse sand)including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.(i)Light shade pigment using white cement.	18.00	Sqm	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Square Metre	24300.00
	Constructing Brick masonary manhole with R.C.C. top slab in 1:2:4 mix (one cement: two sand: four graded stone aggregate 20mm(twenty milimetre) nominal size), foundation concrete 1:4;8 (one cement: four sand: eight graded stone aggregate 40 mm(forty milimetre) nomonal size), inside plastering 15mm (fifteen milimetre)thick with cement mortar 1:3 (one cement: three sand) and finished with floating coat of neat cement and making channels in cement concrete 1:2:4 mix (one cement: two sand: four graded stone aggregate 20mm(twenty milimetre) nominal size) finished smooth complete including curing and testing including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a)Inside size 455mmx610mm and 500mm(eight hundred milimetre into eight hundred milimetre and five hundred milimetre) deep including precast reinforced Cement concrete manhole Cover (Medium Duty) with frame 600 mm (six hundred milimetre) dia Total weight of cover and frame to be notge less than 38Kg.:-(i) with 200mm (two hundred milimetre) thick walls of brick masonary using common burnt clay building bricks in cement mortar 1:3 (one cement: three sand):-	2.00	Nos	12500.00	Rupees Twelve Thousand Five Hundred Only	Each	25000.00

	Constructing brick masonry in road gully chamber 500x450x600 cm with bricks in cement mortar 1:5 (One cement : Five coarse sand) including 500x450 mm C.I horizontal grating with frame complete as per standard design :	1.00	Nos	2500.00	Rupees Two Thousand Five Hundred Only	Each	2500.00
	D. J. D. Consist Courses		 	<u> </u>			
	Quated rates Percentage in figures						
Raj	Quoted rates Percentage in words					G.Total	99116.00
<u> </u>		-T-1 S	No. 4	675- 76	P+ - 23-6(-2	5 PAMOYN	r= 1,02,0901=

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer, Shimla Division No.I,

HP PWD Shimla-3.

	SCHEDULE OF Ider Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W				Estimated Cost:-97	446.00	
en	me of Work: A/R & M/O Kasumpti to Basant vihar road Km 0/00	to 0/550 (SH:- C	O B/wall			
laı	me of Work :- A/R & W/O Rasumpu to basant vinal load Rim 5/00	.0 0,220 (Time: - One Month	•	
	ween Rd 0/337.50 to 0/340 under parimahal section) Description of Work / Item (S)	No.of Qty.		Estimated R	ate	Unit	Amount
Sr. No	1			In figures	In words		
	Cutting and disposal of earth work in by mechanical in all heights and depths in all kinds of soils, including saturated soils comprising of pick work, jumper work and blasting work both in soft and hard rock with chiseling and wedging out of rock (where blasting is prohibited) and their intermediate classification of soils including, dewatering wherever required, setting of to the required lines, levels as shown on the drawing and directed by the Engineer -in-charge at site., according to the HP.PWD. specification of 1990 (one thousand nine hundred ninety) volume-I (one) and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site as per satisfaction of Engineer- in -charge through all modes of transportation		Cum	325.00	Rupees Three Hundred Twenty Five Only	Per Cubic Metre	4023.50
	including head load, animal load or mechanical means along with its leveling fine dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (in required). All the surplus excavated earth to be dumped at dumping site(dumping sites will be arranged by the contractor on his own cost). Any loss to the public and private propriety, human being, machinery during the course of execution and disposal or serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including all incidental charges.						

2 Earth work in excavation of foundation of structures as per drawing and technical specification, including setting out, construction of shoring and bracing, removal of stumps and other deleterious matter, dressing of sides and bottom and back filling with	Metre 1052.00
specification, including setting out, construction of shoring and bracking relations with	1 1
specification, including setting out, construction of shoring and brottom and back filling with	
	1 1
	1 1
The state of the s	ļ
approved material. Hard koack blasting prohibited due that the province of soils including, dewatering wherever required, setting of to the required lines, levels of soils including, dewatering wherever required, setting of to the required lines, levels	1
of soils including, dewatering wherever required to the first according to	1
of soils including, dewatering which the tequine of soils including the tequine of soils include the t	1
1 1 ·c ·· £ 1000 (one thousand nine ninuicu innot) (one)	1
C 1 1chi motorial and transipilation of the disaster many	1
I I	. 1
to the owner of the owner of official and the owner of the owner own	l l
1 1 1 modes of fransportation including fload road, with the	
Engineer-in-Charge through all modes of thinkspottered and with all kinds of	
Engineer-in-Charge through all modes of thatsportation and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with its leveling fine dressing and with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds of load or mechanical means along with all kinds or mecha	.
	<u> </u>
	Į į
	ļ .
	·
the courte of everying and disposal of solvinous and	1
private propriety during the course of exceution and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall unserviceable materials shall be the absolute responsibility of the contractor and shall be the absolute responsibility of th	
unserviceable materials shall be the absolute responsionary of the design of the desig	
have to be duly compensated by him in all respects including all incidental charges.	- 1
foundations 1.04 Cum 3900.00 Rupees Three Per Cub	c Metre 4056.00
Thousand Nine	Į l
	1
complete as per drawing and technical specification of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage	1
including carriage of materials in all leaus and miss as per allowing defense and 40mm nominal	i"
including carriage of materials in an icad and made in including carriage of materials in an icad and made in icad and made including carriage of materials in an icad and made in icad and made	
Dor Cult	ic Meter 44856.00
Thousand Six	
The state of the s	1
complete as per drawing and technical specifications of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage of materials in all leads and lifts as per directions of the Engineer-in-including carriage	Į.
including carriage of materials in all leads and this as per distance ago 20mm nominal	1
Charge. (a) Cement Mortar 1:3:6(1cement:3sand:6graded stone agg.20mm nominal	
size).	

5	Providing weapholes in stone masonry /plain reinforced concrete abutment, wing wall,	6.25	Rmt	180.00	Rupees One Hundred	Per Running meter	1125.00
l i	return wall with 100 mm(One hundred milimetre) dia PVC pipe extending through the		-		Eighty Only		•
1	full with of the structures with slop of 1(v):20(H) towards drawing face complete as per						
	drawing and technical specification clauses 614, 709, 1204.3.7 including carriage of						
	materials in all leads and lifts as per the directions of the Engineer-in-Charge.						
	11	1.76	Cum	1200.00	Rupees One	Per Cubic Metre	2112.00
6	Backfilling behind Retaining / Breast wall, wing wall and return wall complete as per	1.70	Cum	1200.00	Thousand Two		
	drawings and technical specification clause 1204.3.8 including carriage of materials in				Hundred Only		
ľ	all leads and lifts as per directions of the Engineer-in-Charge. (a) Granular material.						
	Disposal of excavated earth up to site approved by MC up to all leads and lifts as	10.11	Cum	600.00	Rupees Six Hundred	Per Cubic Meter	6066.00
7	per directions of the Engineer-in-charge.		1		Only		
8	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in	55.00	Kgs.	105.00	Rupees One Hundred	Per Kilo- gram	5775.00
8	position and binding all complete upto plinth level including carriage of materials in all				Five Only		
	leads and lifts as per directions of the Engineer-in-charge. (i) Mild steel and Medium						
-	Tensile steel bars		<u> </u>	1000.00	D G: Thousand	Dor Cubic Metre	28380.00
9	Square rubble masonry/polygonal rubble masonry(un-coursed/brought to courses) with	4.73	Cum	6000.00	Rupees Six Thousand Only	Per Cubic Metic	26380.00
	hard stone of approved quality in foundation and plinth including leveling up with				Omy		
	Icement concrete 1:6:12 (One cement:Six sand:twelve graded stone aggregate 2011111)						
-	(twenty milimetre)nominal size) in cement mortar 1:6 (One cement: Six sand) in breast						
1	wall and retaining walls including carriage of materials in all leads and lifts as per						1
Ĺ_	directions of the Engineer-in-Charge.			 		Total	97445.50
ash			 	 			
	Quated rates Percentage in figures		 	 		1 -	
	Quoted rates Percentage in words	<u> </u>					

T/s No 4673-74 dated 23-06-25 Amounting to Ry 1,00,369 =

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer, Shimla Division No.I, HP PWD Shimla-3.

enc	SCHEDULE OF der Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W	D. SHIMI	A-3.		Estimated Cost:963			
lan	ne of Work: A/R & M/O Kasumpti to Basant vihar road Km 0/00 tween Rd 0/332.50 to 0/335 under parimahal section)	to 0/550 (SH:- C	C/O B/wall	Time:- One Month.	300.00		
	Description of Work / Item (S)	No.of Qty.		Estimated R	ate	Unit	Amount	
Sr.	Description of work/ tient (5)			In figures	In words			
	Cutting and disposal of earth work in by mechanical in all heights and depths in all kinds of soils, including saturated soils comprising of pick work, jumper work and blasting work both in soft and hard rock with chiseling and wedging out of rock (where blasting is prohibited) and their intermediate classification of soils including, dewatering wherever required, setting of to the required lines, levels as shown on the drawing and directed by the Engineer -in-charge at site., according to the HP.PWD. specification of	·	Cum	325.00	Rupees Three Hundred Twenty Five Only	Per Cubic Metre	4024.00	
	1990 (one thousand nine hundred ninety) volume I (one) and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site as per satisfaction of Engineer- in -charge through all modes of transportation including head load animal load or mechanical means along with its leveling fine dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required). All the surplus excavated earth to be dumped at dumping site(dumping sites will be arranged by the contractor on his own cost). Any loss to the public and private propriety, human being, machinery during the course of execution and disposal of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including al incidental charges.							

•							•		
-			0.62	· · ·	100.00	Rupees Four Hundred	Der Cubic Metre	1052.00	1
.		Earth work in excavation of foundation of structures as per drawing and technical	2.63	Cum		Only	Ter Cubic Mene	1032.00	
		specification, including setting out, construction of shoring and bracing, removal of				Omy		,	İ
		stumps and other deleterious matter, dressing of sides and bottom and back filling with							
		approved material. Hard Roack blasting prohibited and their intermediate classification				'			
	ŀ	of soils including, dewatering wherever required, setting of to the required lines, levels							
		as shown on the drawing and directed by the Engineer -in-charge at site, according to							
		the HP.PWD. specification of 1990 (one thousand nine hundred ninety) volume-I (one)					•		ļ
		and sorting out useful and unuseful material and transportation of the unuseful material				•			
		for disposing at dumping site (To be arranged by the contractor) including payment of							
		prescribed charges of dumping to the owner of dumping site as per satisfaction of						1	
		Engineer-in-Charge through all modes of transportation including head load, animal							ļ
		load or mechanical means along with its leveling fine dressing and with all kinds of			 				
ļ	İ	labour, machineries, tools equipments and safety measures and incidentals necessary to							
		complete the work by mechanical means and labour (if required). All useful material						ļ	
		such as stones, shingles aggregate and slates shall be properly stacked at site to the		i					
		maximum possible extent in all leads and lifts through all modes of transportation the							
		usefull stones as per the direction of the Engineer-in-Charge. Any loss to the public and							
ľ		private propriety during the course of execution and disposal of serviceable and					·]
		unserviceable materials shall be the absolute responsibility of the contractor and shall					·		
		have to be duly compensated by him in all respects including all incidental charges.							ŀ
		maye to be duty compensated by min in an respects merading an incidental situation							
							1		
•									
		·					•		
			-						4
-	3	Providing and laying concrete for plain/reinforced concrete in open foundations	1.04	Cum	3900.00	Rupees Three	Per Cubic Metre	4056.00	
		complete as per drawing and technical specification clauses 802,803,1202 and 1203				Thousand Nine			
		including carriage of materials in all leads and lifts as per directions of the Engineer-in-				Hundred Only			
		Charge. (a) Cement Mortar 1:5:10 (1cement:5sand:10graded stone agg.40mm nominal			[.		1		
1		size).			1				
ŀ	4	Providing and laying concrete for plain/reinforced concrete in open foundations	8.01	Cum	5600.00	Rupees Five	Per Cubic Meter	44856.00	
		complete as per drawing and technical specification clauses 802,803,1202 and 1203	•			Thousand Six			
		including carriage of materials in all leads and lifts as per directions of the Engineer-in-				Hundred Only			
	1			1	1.	1		1	1
ļ		Charge. (a) Cement Mortar 1:3:6(1cement:3sand:6graded stone agg.20mm nominal		1	1		ŀ		1

1 . . .

	Providing weapholes in stone masonry /plain reinforced concrete abutment, wing wall, return wall with 100 mm(One hundred milimetre) dia PVC pipe extending through the full with of the structures with slop of 1(v):20(H) towards drawing face complete as per drawing and technical specification clauses 614, 709, 1204.3.7 including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	15.00	Rmt	180.00	Rupees One Hundred Eighty Only	Per Running meter	2700.00
	Backfilling behind Retaining / Breast wall, wing wall and return wall complete as per drawings and technical specification clause 1204.3.8 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Granular material.	1.76	Cum	1200.00	Rupees One Thousand Two Hundred Only	Per Cubic Metre	2112.00
	Disposal of excavated earth up to site approved by MC up to all leads and lifts as per directions of the Engineer-in-charge.	10.11	Cum	600.00	Rupees Six Hundred Only	Per Cubic Meter	6066.00
	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) Mild steel and Medium	50.00	Kgs.	105.00	Rupees One Hundred Five Only	Per Kilo- gram	5250.00
	Tensile steel bars						
	Square rubble masonry/polygonal rubble masonry(un-coursed/brought to courses) with hard stone of approved quality in foundation and plinth including leveling up with cement concrete 1:6:12 (One cement:Six sand:twelve graded stone aggregate 20mm (twenty milimetre)nominal size) in cement mortar 1:6 (One cement: Six sand) in breast wall and retaining walls including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	4.38	Cum	6000.00	Rupees Six Thousand Only	Per Cubic Metre	26280.00
ash						Total	96396.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words						

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

T/s No. 4671-72 dated 23-86-29 Amount ag to Rs. 99, 287 (=

Executive Engineer,

Shimla Division No.I,

	SCHEDULE OF QUADE INVISION No.I, H. S. M.O. to Type-I Otrs. Windsor Cottage near Rani Ground	P.P.W.D.,	SHIMI	A-3.	Estimated Co Earnest Mone	st:- 99,17 y :- 2,00	0.00
ende ame	or Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H. of Work: - A/R & M/O to Type-I Qtrs. Windsor Cottage near Rani Group vation of Toilet & Kitchen Set No. 8 Type-I Windsor Cottage Kasumpti Shim	id Kasum ila).	ին թա	una. (SII)	Time:- One M	Ionth.	
eno	vation of Tollet & Kitchen Section 31			Estimated R		Jnit 4	Amount
	[] [[[[[[[[[[[[[[[[[[No.of Qty.		In figures	In words		
No l	Description of Work / Item (S) Demolishing cement concrete manually/ by mechanical means including disposal of material Demolishing cement concrete manually/ by mechanical means including disposal of material Demolishing cement concrete manually/ by mechanical means including disposal of material Demolishing cement concrete manually/ by mechanical means including disposal of material	0.91	Cum	1150.00	Rupees One Thousand One Hundred Fifty	Per Cubic Metre	1047.00
	within 50 metres lead as per direction of Sugar	11.52	Sqm	45.00	Only Rupees Forty	Per Square	518.00
	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within the process lead including carriage of materials in all leads and lifts as per directions of the				Five Only Rupees Three	Meter Each	700.00
3	Engineer-in-Charge. (1) For the the transfer of the Engineer-in-Charge. (1) For the transfer of the Engineer-in-Charge with Providing and fixing PVC floor trap ISI marked of self cleaning design including approved adhesive, cost of cutting and making good the wall and floors etc. complete including approved adhesive, cost of cutting and making good the Engineer-in-Charge. (i) 110mm	2.00	Nos.	350.00	Hundred Fifty Only		
	carriage of materials in all leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and this dependence of the leads and the leads a		Rmt	650.00	Rupees Six Hundred Fifty	Per Running	1300.00
. 4	Providing and fixing PVC Sewerage pipe including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110mm dia.	3.00	Rmt	500.00	Only Rupees Five Hundred Only	Meter Per Running	1500.00
├	(ii).75mm dia.		}			Meter	300.00
5	Providing and fixing PVC door bend with oval access door, insertion rubber washer 3 mm thick bolts and nuts ISI marked complete including fixing with approved adhesive etc. including bolts and nuts ISI marked complete including fixing with approved adhesive etc. including the state of the s	k 1.00	Nos.	300.00	Rupees Three Hundred Only	Each	300.00
	carriage of materials in an reads as r	1.00	Nos	250.00	Hundred Fifty	Each	250.00
-	(b) 75mm diameter. (b) 75mm diameter. 6 Providing and fixing PVC collars ISI marked including fixing with approved adhesive entering and lifts as per directions of the Engineer-in-Charge	tc 2.00	Nos	275.00	Only Rupees Two Hundred Seven Five Only	Each	550.00
	including carriage of materials in an leader Exp. (i) 110 mm dia.	3.00	Nos	s. 185.0	Hundred Eign	Each	555.0
	(b) 75mm diameter.	·			Five Only		

(Providing and laying in position cement concrete of specified glade including and shuttering All work up to plinth level including carriage of materials in all leads entering and Shuttering All work up to plinth level including carriage of materials in all leads entering and shuttering of the Engineer-in-Charge. (i) 1:2:4 (One cement :Two coarse sand):	1.00	Cum	0400.00	Rupees Six Fhousand Four Hundred Only	Per Cubic Metre	6400.00
8	our graded stone aggregate 20mm (Twenty milimeter) nominal size). Providing and laying Ist quality Ceramic glazed wall tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:3 (1 Cement: 3 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	26.50	Sqm	1200.00	Thousand Two Hundred Only	Per Square Meter	31800.00
9	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Furne Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	7.11	Sqm	1140.00	Rupees One Thousand One Hundred Forty Only	Per Square Meter	8105.00
10	Providing and fixing Angle iron frames for doors windows & ventilators of mild steel angle sanction of size 35x35x5mm joints including carriage of materials in all leads and lifts as per	62.92	Kgs	105.00	Rupees One Hundred Five Only	Per Kilogram	6607.00
11	sanction of size 35x35x3fml Johns including starting directions of the Engineer-in-Charge. Providing and fixing glass panes with putty and nails including removal of broken glass panes wherever necessary including carriage of material within all leads and lifts as per direction of wherever necessary including carriage of material within all leads and lifts as per direction of	3.42	Sqm	900.00	Rupees Nine Hundred Only	Per square metre	3078.00
12	Engineer-in-charge. (a) Plain Glass: 4mm thick. Providing and fixing vitreous China wash down, water closet (European type. W.C. pan) with integral 'P' or 'S' trap including jointing thetrap with soil pipe in cement mortar 1:1(1 cement: 1 sand) (Seat and over to be measured and paid for separately) including carriage of materials in all leads as per directions of the Engineer-in-Charge (i) ordinary closet	1.00	Nos.	2800.00	Rupees Two Thousand Eight Hundred Only	Each	2800.00
_	The said fiving 100 mm sand cast Iron grating for gully trap including carriage of materials	2.00	Nos.	200.00	Rupees Two Hundred Only	Each	400.00
13	in all leads and lifts as per directions of the Engineer-in-Charge. Providing and fixing plastic seat (Solid / Hollow type) and cover for wash down water closet with C.P. Brass hinges and rubber buffers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (1)SOLID TYPE (a) White plastic seat and cover.	1.00	Nos	850.00	Rupees Eight Hundred Fifty Only	Each	850.00
1:	Make Inglo Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 10 litre capacity - White Make Ess Ess.		Nos.	2473.40	Rupees Two Thousand Four Hundred Seven Three and Pais Forty Only	ity	2473.00

 	Quoted rates Percentage in words			<u> </u>		G.Total	
	Quated rates Percentage in figures						
						Total	99171.00
1	required as per the direction of Engineer-in-charge. (MAKE TATA)			ļ			
I	(RNP) organic coating of 20 microns were 5 microns over 5 microns over 5 microns primer coating i/c fixing with prepainted iron J or L hooks, bolts and nuts microns over 5 microns primer coating i/c fixing with prepainted iron J or L hooks, bolts and nuts microns over 5 micro						
					Only		
	a such a disease motollic gine coated sheet Will top coat of regular mounted postsori				Hundred Fifty		
	of the Engineer-in-Charge. Providing and fixing 0.60mm(zero point six zero milimetre) thick prepainted steel sheet in	15.25	Sqm.	1350.00	Rupees One Thousand Three	Per Square Metre	20588.00
p	olug with C.P. Brass screws including carriage of materials in all leads and into de per discourse		.		Only		<u> </u>
O B	Providing and fixing chromium plated brass soap dish with C.P. Brass brackets fixed to wooden	2.00	Nos	550.00	Rupees Five Hundred Fifty	Each	1100.00
C	arriage of materials in all leads as per directions of the Engineer-in-Charge. MAKE ESS ESS			· · · · · · · · · · · · · · · · · · ·			1100.00
Q P	Providing and fixing 15mm mixer for kitchen sink with top / bottom swinging spout, including	1.00	Nos.	4000.00	Rupees Four Thousand Only	Each	4000.00
di	irections of the Engineer-in-Charge. (i) 510x1040 mm bowl depth 250 mm					To all	1000.00
	relating good the walls wherever required including carriage of machinis in an ious as pos-			÷	Tundied Only		
	roviding and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per IS:13983 with C.I. rackets and stainless steel plug 40 mm, including painting of fittings and brackets, cutting and	1.00		5000.00	Thousand Eight Hundred Only		
1		1.00	Nos.	3800.00	Rupees Three	Each	3800.00
6 Pr	roviding and fixing 8.00mm C.P jet spray of approved quality and colour with 1.50 meter tube cluding carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00			Hundred Fifty Only		
	c and evolity and actour with 1.50 meter tube	1.00	Nos	450.00	Rupees Four	Each	450.00

(T/S No. 4669-70 Dated 23-66-25 Amount to Rs. 1, 02, 146 [=]).

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I, HIP PWD-Shimla-3.

		T T T T					
SCHEDULE OF	D SHIMI	Δ-3.		Estimated Cost:-97	938.00		
ender Inviting Authority : EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W	idential a	trs at	Kasumpti	Earnest Money :- 2	000.00		
Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION NO-I, A.F. F.W. Name of Work: - A/R & M/O various Type - 1 to Type - VI GAD resolution (SH:-C/O B/wall below Type - IV 22 to 27 at Rd 0/02.50 to 0/05.00 u	iuciicie: 4		on)	Time:- One Month.			
	No.of Qty.		Estimated R	1 ate	Unit	Amount	
Or. Description of Work / Item (S)	110.01 Qty.		In figures	In words			
1 Cutting and disposal of earth work in by mechanical in all heights and depths in all kinds of soils, including saturated soils comprising of pick work, jumper work and blasting work both in soft and hard rock with chiseling and wedging out of rock (where blasting is prohibited) and their intermediate classification of soils including, dewatering wherever required, setting of to the required lines, levels as shown on the drawing and directed by the Engineer -in-charge at site, according to the HP.PWD. specification of 1990 (one thousand nine hundred ninety) volume-(one) and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site as per satisfaction of Engineer- in -charge through all modes of transportation including head load ,animal load or mechanical means along with its leveling find dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required). All the surplus excavated earth to be dumped at dumping site (dumping sites will be arranged by the contractor on his own cost). Any loss to the public and private propriety, human being, machiner during the course of execution and disposal of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in a respects including all incidental charges.	f e e e	Cum	325.00	Rupees Three Hundred Twenty Five Only	Per Cubic Metre	6146.00	

	Earth work in excavation of foundation of structures as per drawing and technical specification, including setting out, construction of shoring and bracing, removal of stumps and other deleterious matter, dressing of sides and bottom and back filling with approved material. Hard Roack blasting prohibited and their intermediate classification of soils including, dewatering wherever required, setting of to the required lines, levels as shown on the drawing and directed by the Engineer -in-charge at site, according to the HP.PWD. specification of 1990 (one thousand nine hundred ninety) volume-I (one) and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site (To be arranged by the contractor) including payment of prescribed charges of dumping to the owner of dumping site as per satisfaction of Engineer-in-Charge through all modes of transportation including head load, animal load or mechanical means along with its leveling fine dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required). All useful material such as stones, shingles aggregate and slates shall be properly stacked at site to the maximum possible extent in all leads and lifts through all modes of transportation the useful stones as per the direction of the Engineer-in-Charge. Any loss to the public and private propricty during the course of execution and disposal in-Charge. Any loss to the public and private propricty during the course of execution and disposal	3.60	Cum		Rupees Four Hundred Only	Per Cubic Metre	1440.00	
	of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including all incidental charges.							
3	Providing and laying concrete for plain/reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803,1202 and 1203 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Cement Mortar 1:5:10 (1cement:5sand:10graded stone agg.40mm nominal size).	0.86	Cum	3800.00	Rupees Three Thousand Eight Hundred Only	Per Cubic Metre	3268.00	
4	Providing and laying concrete for plain/reinforced concrete in open foundations complete as per drawing and technical specification clauses 802,803,1202 and 1203 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Cement Mortar	7.88	Cum	5600.00	Rupees Five Thousand Six Hundred Only	Per Cubic Meter	44128.00	
5	1:3:6(1cement:3sand:6graded stone agg,20mm nominal size). Providing weapholes in stone masonry /plain reinforced concrete abutment, wing wall, return wall with 100 mm(One hundred milimetre) dia PVC pipe extending through the full with of the structures with slop of 1(v):20(H) towards drawing face complete as per drawing and technical specification clauses 614, 709, 1204.3.7 including carriage of materials in all leads and lifts as per	14.40	Rmt	180.00	Rupees One Hundred Eighty Only	Per Running meter	2592.00	
6	the directions of the Engineer-in-Charge. Backfilling behind Retaining / Breast wall, wing wall and return wall complete as per drawings and technical specification clause 1204:3.8 including carriage of materials in all leads and lifts as	2.25	Cum	1200.00	Rupees One Thousand Two Hundred Only	Per Cubic Metre	2700.00	
7	per directions of the Engineer-in-Charge. (a) Granular material. Disposal of excavated earth up to site approved by MC up to all leads and lifts as per		Cum	600.00	Rupees Six Hundred Only	Per Cubic Meter	6804.00	
-	directions of the Engineer-in-charge.	L						

					In O I I tun dead	Per Kilo- gram [5250.00
· ·	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) Mild steel and Medium Tensile steel bars	50.00	Kgs.		Rupees One Hundred Five Only		
9	Square rubble masonry/polygonal rubble masonry(un-coursed/brought to courses) with hard stone of approved quality in foundation and plinth including leveling up with cement concrete 1:6:12 (One cement:Six sand:twelve graded stone aggregate 20mm (twenty milimetre)nominal size) in cement mortar 1:6 (One cement: Six sand) in breast wall and retaining walls including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Cum		Rupees Six Thousand Five Hundred Only	Per Cubic Metre	25610.00
	materials in an italy and into as per directors.					Total	97938.00
d			†				l
DP	Quated rates Percentage in figures		-				
	Overed rates Percentage in words	l		<u> </u>			

T/s No 4689-90 dated 23-96-25 Amounting to Rs. 1,00,876 =

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engine Shimla Division No.I,

DRAFT SCHEDULE OF Cender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P. NAME OF WORK:- A/R & M/O to Type-I Qtrs. Windsor Cottage A/R Set No. 8 Kasumpti Shimla).	W.D., SHIN	MLA-3. Shin	ıla. (SH:-	Estimated C Earnest Mo Time:- One	cost:- 99,49 ney :- 2,00 Month.	98.00
NAME OF WORK:- A/R & M/O to 13po Renovation/Addition of Type-I Otrs. Set No. 8 Kasumpti Shimla).	No.of Qty.	7	Estimated I	Rate	Unit	Amount
Sr. Description of Work / Relin (5)	865.20	Kgs.	In figures	In words Rupees One Hundred Fifteen Only	Per Kilogram	99498.00 99498.0
Quated rates Percentage in figures Quoted rates Percentage in words					G.Tota	

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

DNIT approved for Rs. 99,498/- Only (Rupees Ninety nine Thousand Four Hundred Ninety eight only) vide DNIT Register Sr.No...... the financial year 2025-26. (T/S No.Y147-18. Dated .2.3.-.95.725... Amount to Rs.1,.02,..483(2...).

> Executive Enginee Shimla Division No.I,

HP PWO Shimla-3.

	SCHEDULE OF QU	ANTIT	Y				
	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.				Estimated C		
	ME OF WORK:- A/R & M/O to various Type-I to Type-VI Qtrs. Of G						900.00
	:- Providing and Fixing G.I water pipeline at SDA Complex parking	and Pro	viding	and fixing	Time:- One	Month.	
	ssories in various sets under Parimahal Section).	<u> </u>					
ı	Description of Work / Item (S)	No.of Qty	.	Estimated I	Rate	Unit	Amount
No				In figures	In words	1	
1	Providing and fixing G.I pipes complete with G.I fittings and clamps including cutting chases and making good the all including carriage of materials within all leads and lifts and as per the direction of Engineer-in-Charge. (i) 50mm dia.		Rmt	927.70	Rupees Nine Hundred Twenty Seven and Paise Seventy Only	Per Running Meter	50467.00
	(ii) 15mm dia.	6.00	Rınt	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	2100.00
2	Providing and fixing G.I union in G.I pipe including cutting and threading the pipe and making long screws complete (New work) including carriage of materials in all leads and lifts as per direction of the Engineer-in-Charge. (i) 50mm dia.	2.00	Nos.	550.00	Rupees Five Hundred Fifty Only	Each	1100.00
	(ii) 15mm dia.	2.00	Nos.	150.00	Rupees One Hundred Fifty Only	Each	300.00
3	Providing and placing on terrace (at all floor levels) polyethylene water storage tank, IS: 12701 marked, with cover and suitable locking arrangement and making necessary holes for inlet, outlet and overflow pipes but with out fittings and the base support for tank including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1000.00	Ltrs.	8.50	Rupees Eight and Paise Fifty Only	Per Ltrs.	8500.00

Ca.

	1	Farth work in account of C						
	4	Earth work in excavation of foundation of structures as per drawing and technical specification including setting out, construction of shoring and bracing, removal of stumps and othe deleterious matter, dressing of sides and bottom and back filling with approved material. Hard Roack blasting prohibited and their intermediate classification of soils including, dewatering wherever required, setting of to the required lines, levels as shown on the drawing and directed by the Engineer -in-charge at site, according to the HP.PWD. specification of 1990 (one thousand nine hundred ninety) volume-I (one) and sorting out useful and unuseful material and transportation of the unuseful material for disposing at dumping site (To be arranged by the contractor) including payment of prescribed charges of dumping to the owner of dumping site as per satisfaction of Engineer-in-Charge through all modes of transportation including head load, animal load or mechanical means along with its leveling fine dressing and with all kinds of labour, machineries, tools equipments and safety measures and incidentals necessary to complete the work by mechanical means and labour (if required). All useful material such as stones, shingles aggregate and slates shall be properly stacked at site to the maximum possible extent in all leads and lifts tbrough all modes of transportation the usefull stones as per the direction of the Engineer-in-Charge. Any loss to the public and private propriety during the course of execution and disposal of serviceable and unserviceable materials shall be the absolute responsibility of the contractor and shall have to be duly compensated by him in all respects including all incidental charges.		Cum	400.00	Rupees Four Hundred Only	Per Cubic Metre	7200.00
	5	Providing and fixing vitreous China wash down, water closet (European type. W.C. pan) with integral 'P' or 'S' trap including jointing thetrap with soil pipe in cement mortar 1:1(1 cement : 1 sand) (Seat and over to be measured and paid for separately) including carriage of materials in all leads as per directions of the Engineer-in-Charge (i) ordinary closet MAKE ESS ESS or Equivalent	1.00	Nos.	2800.00	Rupees Two Thousand Eight Hundred Only	Each	2800.00
		Providing and fixing plastic seat (Solid / Hollow type) and cover for wash down water closet with C.P. Brass hinges and rubber buffers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (1)SOLID TYPE (a) White plastic seat and cover. MAKE ESS ESS or Equivalent	1.00	Nos	600.00	Rupees Six Hundred Only	Each	600.00
-		Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 10 litre capacity - White MAKE ESS ESS or Equivalent	1.00	Nos.	1250.00	Rupees One Thousand Two Hundred Fifty	Each	1250.00
		Providing and fixing hand faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	550.00	Only Rupees Five Hundred Fifty	Each	550.00
	9	Providing and fixing 100 mm sand cast Iron grating for gully trap including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	200.00	Only Rupees Two Hundred Only	Each	200.00

10	Providing and fixing C.P. Brass Towel rail complete with C.P. Brass brackets fixed to wooden plugs with C.P. Brass screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 600 mm long towel rail with total length of 645 mm, width 78 mm and effective height of 88 mm, weighing not less than 190 gms.	1.00	Nos.	600.00	Rupees Six Hundred Only	Each	600.00
11	Providing and fixing PTMT towel ring trapezoidal shape 215 mm long. 200 mm wide with minimum distances of 37 mm from wall face with concealed fittings arrangement of approved quality and colour, weighing not less than 88 gms including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	550.00	Rupees Five Hundred Fifty Only	Each	550.00
	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	1050.00	Rupees One Thousand Fifty Only	Each	1050.00
	Providing and fixing chromium plated brass soap dish with C.P. Brass hrackets fixed to wooden plug with C.P. Brass screws including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge. (E.S) Make ESS ESS	1.00	Nos	550.00	Rupees Five Hundred Fifty Only	Each	550.00
	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm	1.00	Nos.	850.00	Rupees Eight Hundred Fifty	Each	850.00
	nominal bore Make ESS ESS		!	;	Only		
	Providing and fixing unplasticised P.V.C. connection pipe with PTMT Nuts, collar and bush of approved quality and colour including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm nominal bore with 45 cm length	1.00	Nos.	150.00	Rupees One Hundred Fifty Only	Each	150.00
	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Flexible pipe (a) 32 mm dia	1.00	Nos.	200.00	Rupees Two Hundred Only	Each	200.00
	Providing and fixing 600x120x5 mm glass shelf with edges round off, supported on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with 40 mm long screws, rawl plugs etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	650.00	Rupees Six Hundred Fifty Only	Each	650.00
	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15mm nominal bore MAKE ESS ESS	1.00	Nos.	850.00	Rupees Eight Hundred Fifty Only	Each	850.00
	Providing and fixing vitreous China wash basin with single hole for pillar tap with C.I. or M.S. brackets painted white including cutting holes and making good the same but excluding fittings with pedistal complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Flat back (i)550 x400mm.	1.00	Nos	2600.00	Rupees Two Thousand Six Hundred Only	Each	2600.00
	Providing and fixing 32 mm (thirty two milimetre) dia C.P. brass waste for wash basin or sink complete within all leads, lifts of materials and other incidentals. including carriage of materials in all leads as per directions of the Engineer-in-Charge.	1.00	Nos.	450.00	Rupees Four Hundred Fifty Only	Each	450.00

- .

					G.Total	•
 Quoted rates Percentage in words						
 Quated rates Percentage in figures					Total	94567.00
 Providing and fixing wall mixing faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS	1.00	Nos.	4000.00	Rupees Four Thousand Only	Each	4000.00
Providing and fixing 15mm mixer for kitchen sink with top / bottom swinging spout. including carriage of materials in all leads as per directions of the Engineer-in-Charge. MAKE ESS ESS	1.00	Nos.	4000.00	Rupees Four Thousand Only	Each	4000.00
 Providing and fixing white vitreous china pedestal for wash basin completely recessed at the back for the reception of pipes and fittings including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	3000.00	Rupees Three Thousand Only	Each	3000.00

TIS MO. 4665- 66 Dt 23-06-25 Amount = 97, 4041=

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer

Shimla Division No.I,

HP PW Shimla-3.

	SCHEDULE OF		,				
	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., S	HIMLA-3.			Estimated Cost:-9750		
ene	der Inviting Authority: EXECUTIVE ENGINEER SHIVLA DIVISION IN IN A TOWNS AND LE OF Work: - A/R & M/O various Type -1 to type VI qtr of GAD at Kasumpti Shimla (SI	I:- Providin	g and	fixing tiles in	Earnest Money :-190	0=00	
Nam	te of Work: - A/R & M/O various type -1 to type vy qu of Gilb at 2-many		_		Time: - One Month.		
	e - III 166 to 171 under kasumpti section)	No.of Qty.		Estimated R	ate	Unit	Amount
Sr.	Description of Work / Item (S)	110.01 Qtj.		In figures	In words		
No 1	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	·	Sqm	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Square Meter	36581.50
2	Tile work in skirting, risers of steps and dado up to 2 m (two metre) height over 12 mm(twelve	ŀ	Sqm	1170.00	Rupees One Thousand One Hundred Seventy	Per Square Metre	46238.00
3	cement slurry @ 3.3 kg/sqm, including pointing in white cement mixed with pigment of matering shade complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) 8 mm(eight milimetre) thick	139.84	Kgs	105.00	Only Rupees One Hundred Five Only	Per KilogramMetre	14683.00
_	in position and applying a priming coat of red lead paint including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) In gratings, framed guards bars ladders, railing, brackets and similar work. Quated rates Percentage in figures						
vis	- 			 		G.Total	97502.5

T/s No 4663-64 dated 23-06-25 Amounting to Rs. 1,00, 427 =

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

HP PWD Shimla-3.

	SCHEDULE C	OF QUANT	ITY				
Tenc	der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.	W.D., SHIM	ILA-3.		Estimated Cost:- Rs:	-98294=00	
	ne of Work :- A/R & M/O to Type - I to VI Qtrs of GAD at Kasump			I:-	Earnest Money :Rs:-2	2000=00	
Pro	viding and fixing of wood work Type-IV set No 58 in Kasumpti S	Shimla (H	I.P) `		Time:- One Month.		,
Sr.	Description of Work / Item (S)	No.of Qty.		Estimated R	ate	Unit	Amount
No				In figures	In words	1	
1	Providing and fixing 32 mm dia CP Brass waste for wash basin or sink complete with in all leads lifts of materials and other incidentals.	2.00	Nos	500.00	Rupees Five Hundred Only	Each	1000.00
	Providing and fixing one piece water closet ovel shaped white including carriage of materials in all leads and lifts as per directions of the Engineer- in - charge make Hindware for equivlents.	2.00	Nos	19600.00	Rupees Nineteen Thousand Six Hundred Only	Each	39200.00
	Providing and fixing 19mm thick Commercial Board water proof shutters for up boards I/C fixing with nickel plated piano hinges with screws etc complete) including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	42.25	Sqm	1375.00	Rupees One Thousand Three Hundred Seventy Five Only	Per Square Meter	58094.00
ь				 			98294.00
U		l			141-42 D+ 5	23 4/ 25	Omark 4

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in

Executive Engineer,
Shimla Division No.I,
HP PW/DShimla-3

	SCHEDULE OF Q	UANTITY	, 				
T	THE ASSESSMENT OF THE PROPERTY	IMLA-3.			Estimated Cost:-9832		
ı en	the of Work: - A/R & M/O various Type -1 to type VI qtr of GAD at Kasumpti Shimla (SH:- Provi	iding and	fixingPVC	Earnest Money :-190	0=00	
Nan	oring in Type - III 165, Type - I-03 fixing accessories in Type - III 132 under Kasumpti section	n)	_		Time:- One Month.	<u> </u>	
		lo.of Qty.		Estimated Ra	ate	Unit	Amount
	Description of Work / Item (3)			In figures	In words		İ
No 1	Providing and fixing 1.50mm(One point Fifty milimetre) thick PVC antistatic venyl Flooring plain or coloured, carbed or mosaic/metalled finish laid with approved adhesive on sub-floor (damp proofing treatment to be paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	65.16	Sqm	950.00	Rupees Nine Hundred Fifty Only	Per Square Metre	61902.00
2	Providing and fixing ply wood lining with but jointing and nails (frame work and cover fillets to be measured and paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 6mm thick	35.85	Sqm	600.00	Rupees Six Hundred Only	Per Square Meter	21510.00
3	Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm nominal bore MAKE ESS ESS	1.00	Nos.	950.00	Rupees Nine Hundred Fifty Only	Each	950.00
4	Providing and fixing C.P.brass angle valve without nuts and pipe including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charges.(i)15mm(fifteen milimetre) dia.	9.00	Nos	850.00	Rupees Eight Hundred Fifty Only	Each	7650.00
5	Providing and fixing C.P. Brass extension nipple (size 15mmx50mm) of approved make and	8.00	Nos.	80.00	Rupees Eighty Only	Each	640.00
6	quality as per direction of Engineer-in-charge Providing andf ixing toilet paper holder of approved quality and Stainless steel screws and rawal plugs etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge	1.00	Nos	750.00	Rupees Seven Hundred Fifty Only	Each	750.00
	Providing and laying in position cement concrete of specified grade including the cost of centering and shuttering - All work up to plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)1:2:4 (one cement: two coarse sand): four graded stone aggregate 20 mm (twenty milimetre) nominal size)	1	Cum	6400.00	Rupees Six Thousand Four Hundred Only	Per Cubic Metre	1664.00

8	Steel Reinforcement for RCC work including straightening cutting, bending placing in position and binding all complete up to plinth level (i) thermo mechanically treated bars of grade Fe -500 D or more.	20.00	Kg	105.00	Rupees One Hundred Five Only	per Kilogram	2100.00
	Centering and shuttering including strutting, propping etc. and removal of form work for including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)Retaining walls, return walls, walls (any thickness) including attached pilasters, buttresses, plinth and string courses fillets, kerbs and steps etc.		Sqm	450.00	Rupees Four Hundred Fifty Only	Per Square Metre	1157.00
-	Quated rates Percentage in figures						
vis	Quoted rates Percentage in words					G.Total	98323.00

T/s No 4659 - fo dated 23-06-25 Amounting to Rs. 1, 01, 273 =

CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance

Executive Engineer

Shimla Division No.I,

HP PWD Strippla-3.

		Tend	SCHEDULE OF QU ler Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D.,				Estimated C	'ost:- 96.	080 00		
•		Nam	te of Work :- A/R & M/O various Type-III to Type-IV Qtrs. of GAD at Pa	rimahal K	asump	ti Shimla-9.	Earnest Mo	ney :- 1.9	00.00		
		(SH:	- Repair work in Bathroom, Kitchen and Toilet etc Type-III Set No. 64 Und	er Parimal	nal Sec	tion).	Time:- One Month.				
-	,		Description of Work / Item (S)	No.of Qty.		Estimated I	l Rate	Unit	Amount		
		No				In figures	In words	1	Ì		
-		1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i)Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	0.44	Cum	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Cubic Metre	506.00		
		2	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)For thickness of tiles 10 mm to 25 mm	23.18	Sqm		Rupees Forty Five Only	Per Square Meter	1043.00		
		3	Dismantling doors, windows and clerestory windows (steel or wood) shutter including	2.00	Nos	250.00	Rupees Two	Each	500.00		
		1, 4,	chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Of area 3 sq. metres and below			-	Hundred Fifty Only		200.00		
		4	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abutments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets, sunken floor etc., up to floor five level, excluding the cost of centering, shuttering and finishing including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 1:3:6 (One cement: Three coarse sand): Six graded stone aggregate 20 mm nominal size)	1.20	Cum	5400.00	Rupees Five Thousand Four Hundred Only	Per Cubic Metre	6480.00		
			Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802,803,1202 & 1203 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Nominal mix 1:2:4 (One cement: Two coarse sand): Four graded stone aggregate 20 mm nominal size)	0.16	Cum		Rupees Six Thousand Five Hundred Only	Per Cubic Metre	1040.00		

	Providing and laving marified CL 10						
,	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cement Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Sqm	1140.00	Rupees One Thousand One Hundred Forty Only	Per Square Meter	7615.00
7	Tile work in skirting, risers of steps and dado up to 2 m height over 12 mm thick bed of cement		 				
	including pointing in white cement mixed with pigment of matching shade including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Sqm	1140.00	Rupees One Thousand One Hundred Forty Only	Per Square Meter	40071.00
8	Providing and fixing vitreous China wash down, water closet (European type. W.C. pan) with integral 'P' or 'S' trap including jointing thetrap with soil pipe in cement mortar 1:1(1 cement: 1 sand) (Seat and over to bemeasured and paid for separately) including carriage of materials in all leads as per directions of the Engineer-in-Charge (i) ordinary closet MAKE ESS ESS or	1.00	Nos.	2800.00	Rupees Two Thousand Eight Hundred Only	Each	2800.00
	Equivalent.						
9	Providing and fixing plastic seat (Solid / Hollow type) and cover for wash down water closet with C.P. Brass hinges and rubber buffers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (1)SOLID TYPE (a) White plastic seat and cover. Make ESS ESS	1.00	Nos	1049.36	Rupees One Thousand Forty Nine and Paise Thirty Six Only	Each	1049.00
	Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever) conforming to IS: 7231, with all fittings and fixtures including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 10 litre capacity - White MAKE ESS ESS	1.00	Nos.	2473.40	Rupees Two Thousand Four Hundred Seventy Three and Paise Forty Only	Each	2473.00
	Providing and fixing hand faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS	1.00	Nos.		Rupees Eight Hundred Seventy Five and Paise Forty Four Only	Each	875.00
12	Providing and fixing 100 mm sand cast Iron grating for gully trap including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	2.00	Nos.		Rupees Two Hundred Only	Each	400.00

	13	Providing and fixing C.P. Brass Towel rail complete with C.P. Brass brackets fixed to wooden plugs with C.P. Brass screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 600 mm long towel rail with total length of 645 mm, width 78 mm and effective height of 88 mm, weighing not less than 190 gms. MAKE ESS ESS		Nos.	1074.00	Rupees One Thousand Seventy Four Only	Each	1074.00
		Providing and fixing PTMT towel ring trapezoidal shape 215 mm long, 200 mm wide with minimum distances of 37 mm from wall face with concealed fittings arrangement of approved quality and colour, weighing not less than 88 gms including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS		Nos.	968.82	Rupees Nine Hundred Sixty Eight and Paise Eighty Two Only	Each	969.00
	15	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	1050.00	Rupees One Thousand Fifty Only	Each	1050.00
Markett Commence	16	Providing and fixing chromium plated brass soap dish with C.P. Brass brackets fixed to wooden plug with C.P. Brass screws including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge. (E.S) Make ESS ESS or Equivalent.	1.00	Nos	650.00	Rupees Six Hundred Fifty Only	Each	650.00
		Providing and fixing C.P. brass bib cock of approved quality conforming to IS:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm nominal bore Make ESS ESS	1.00	Nos.	850.00	Rupees Eight Hundred Fifty Only	Each	850.00
		Providing and fixing unplasticised P.V.C. connection pipe with PTMT Nuts, collar and bush of approved quality and colour including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm nominal bore with 45 cm length	2.00	Nos.		Rupees One Hundred Fifty Only	Each	300.00
	19	Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Flexible pipe (a) 32 mm dia	1.00	Nos.		Rupees Two Hundred Only	Each	200.00
		Providing and fixing 600x120x5 mm glass shelf with edges round off, supported on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with 40 mm long screws, rawl plugs etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	650.00	Rupees Six Hundred Fifty Only	Each	650.00
		Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15mm nominal bore MAKE ESS ESS	1.00	Nos.		Rupees Eight Hundred Fifty Only	Each	850.00

	, 22	Providing and fixing G.I pipes complete with G.I fittings and clamps including cutting chases and making good the all including carriage of materials within all leads and lifts and as per the direction of Engineer-in-Charge. (i) 15mm (Fifteen millimeters) nominal bore		Rmt	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	2100.00
	23	Providing and fixing G.I union in G.I pipe including cutting and threading the pipe and making long screws complete (New work) including earriage of materials in all leads and lifts as per direction of the Engineer-in-Charge. (i) 15mm (Fifteen millimeters) nominal borc	1.00	Nos.	150.00	Rupees One Hundred Fifty Only	Each	150.00
	24	Providing and fixing high pressure PVC spigot and socket, waste and ventilating pipes ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Rmt	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	350.00
		(ii) 90 mm dia.	1.00	Rmt	250.00	Rupees Two Hundred Fifty Only	Per Running Meter	250.00
e e e e e e e e e e e e e e e e e e e	25	Providing and fixing PVC single equal branch plain ISI marked including fixing with approved adhesive etc. complete. (i) 110 mm dia.	1.00	Nos.	350.00	Rupees Three Hundred Fifty Only	Each	350.00
		(ii) 90 mm dia	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
	26	Providing and fixing PVC collars ISI marked including fixing with approved adhesive etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	275.00	Rupees Two Hundred Seventy Five Only	Each	275.00
		(ii) 90 mm dia.	1.00	Nos.	220.00	Rupees Two Hundred Twenty Only	Each	220.00
	27	Providing and fixing PVC plain bend ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	300.00	Rupees Three Hundred Only	Each	300.00
		(ii) 90 mm dia.	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
	28	Providing and fixing PVC reducer ISI marked including jointing with approved adhesive etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110mmx90 mm dia	1.00	Nos	300.00	Rupees Three Hundred Only	Each	300.00
		· ·		İ]	

	29	Providing and Sail DVG S							
		Providing and fixing PVC floor trap ISI marked of self cleaning design including fixing with approved adhesive, cost of cutting and making good the wall and floors etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110mm x 90mm (one hundred ten milimetre into ninety millimetre) nominal size.		Nos.	350.00	Rupees Three Hundred Fifty Only	Each	350.00	
	30	Providing and fixing PVC single equal branch with oval access door, ISI marked insertion rubber washer 3 mm thick bolts and nuts complete including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1	Nos.	300.00	Rupees Three Hundred Only	Each	300.00	
	2.1	(ii) 90 mm dia	1.00	Nos.	270.00	Rupees Two Hundred Seventy Only	Each	270.00	
	31	Providing and fixing panelled glazed or panelled and glazed shutters for doors windows and clerestory windows. Including black enamelled iron butt hinges with necessary screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 40mm thick (i)2nd class deodar wood.		Sqm	4800.00	Rupees Four Thousand Eight Hundred Only	Per Square Metre	2496.00	
en de de la grande de la grande de la grande de la grande de la grande de la grande de la grande de la grande d Esta de la grande de la grande de la grande de la grande de la grande de la grande de la grande de la grande d	32	Providing and fixing wire gauge shutters using galvanised M.S. wire gauge of I.S. gauge designation 85 G. with wire of dia 0.56 mm for doors windows and clerestorey windows	0.52	Sqm	4500.00	Rupees Four	Per Square	2340.00	1
		including bright finished black enamelled iron hinges with necessary screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)40mm thick 2nd class deodar wood				Thousand Five Hundred Only	Metre		
, and a significant of the control o		Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 150x10mm	1.00	Nos.	80.00	Rupees Eighty Only	Each	80.00	
		(ii) 200x10 mm	1.00	Nos.	100.00	Rupees One Hundred Only	Each	100.00	
		Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 125 mm	1.00	Nos.		Rupees Seventy Five Only	Each	75.00	
		Providing and fixing bright finished brass hard drawn hooks and eyes including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 200 mm	1.00	Nos.		Rupees Sixty Only	Each	60.00	
	36	Providing and fixing C.P. Brass extension nipple (size 15mmx50mm) of approved make and quality as per direction of Engineer-in-charge	1.00	Nos.		Rupees Eighty Only	Each	80.00	

	37	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i) Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	0.08	Cum	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Cubic Metre	92.00
	38	Centering and shuttering including strutting, propping etc. and removal of form work for including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)Retaining walls, return walls, walls (any thickness) including attached pilasters, buttresses, plinth and string courses fillets, kerbs and steps etc.	0.75	Sqm	450.00	Rupees Four Hundred Fifty Only	Per Square Metre	338.00
		Marble work (table rubbed and polished for walls lining) Veneer work 2.50cm. thick in cement mortar 1:3 (1 cement:3 sand) including pointing with white cement mortar 1:2 (1 white cement: 2 marble dust) with an admixture of pigment to match the marble shade including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) Baroda Green Marble	0.90	Sqm	4000.00	Rupees Four Thousand Only	Per Square Metre	3600.00
	Į.	Providing and fixing PVC door bend with oval access door, insertion rubber washer 3 mm thick bolts and nuts ISI marked complete including fixing with approved adhesive etc. including carriage of materials in all leads as per directions of the Engineer-in-Charge.	1.00	Nos.	350.00	Rupees Three Hundred Fifty Only	Each	350.00
the state of the s		(i) 110 mm dia.	•					
e E e e e e e e e e e e e e e e e e e e		(iii) 90 mm dia.	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
		Providing and fixing C.P. Brass waste for wash basin or sink including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 32mm dia.	1.00	Nos		Rupees Five Hundred Fifty Only	Each	550.00
		Repair to plaster in patches of 2.50 square meter under and upto 10 to 15mm thick including cutting the patch in proper shape and re-plastering the surface of wall including disposal to the dumping ground with a lead of 20 metres with including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge. (i) Cement Mortar 1:5(One cement: Five sand).	2.00	Sqm		Rupees Two Hundred Fifty Only	Per Square Meter	500.00
		Demolishing R.C.C. work manually/ by mechanical means including stacking of steel bars and disposal of unserviceable material within 50 metres lead as per direction of Engineer - in- Charge.	0.09	Cum		Rupees One Thousand Three Hundred Fifty Only	Per Cubic Metre	122.00
	- 1 1	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) Mild steel and Medium Tensile steel bars.	20.00	Kgs.		Rupees One Hundred Five Only	Per Kilo- gram	2100.00

45	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level. Cement mortar 1:4 (one cement four coarse sqm sand) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Sqm	1020.00	Rupees One Thousand Twenty Only	Per Square Meter	1040.00
46	Providing and fixing chicken mesh in wall surface screws and nails including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	9.89	Sqm	200.00	Rupees Two Hundred Only	Per Square Metre	1978.00
47	Dubbing out an old irregular walls average 10mm thick with including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) cement mortar 1:5 (One cement: Five sand).	9.89	Sqm.	280.00	Rupees Two Hundred Eighty Only	Per Square Metre	2769.00
	Quated rates Percentage in figures					Total	96080.00
	Quoted rates Percentage in words						
						G.Total	-

(T/S No.4777-78 Dated 24-66-25 Amount to

. I. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I,

HP PWD Shimla-3.

Ì	Tond	SCHEDULE OF QU. der Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.I.	W D SHI	MIA-3		Estimated Co	ost:- 97,0	73.00
-	Nam	e of Work: A/R & M/O to Type-I to VI Qtrs. Of GAD at Kasumpti Sh	imla-9. (SI	H:- Pro	malling and	Earnest Mon	ey :- 2,00	00.00
	Train.	g Cup boards in Type-III Set No. 142,137 under Kasumpti Section).						
ļ	FIXID	Description of Work / Item (S)	No.of Qty.	•	Estimated R		Unit	Amount
		Description of work / Item (5)			In figures	In words		
	No 1	Providing and fixing 19mm thick water proof commercial board in shelves/shutters box for cup board with butt joints & fixing with nails & screws etc complete) including carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	42.03	Sqm	1330.00	Thousand Three Hundred Fifty Only	Per Square Meter	56741.00
	2	Providing and fixing 0.80mm thick coloured or plain lamination sheet (sunmica) on boards/ply wood sheets with approved adhesive and nails etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	12.96	Sqm	850.00	Rupees Eight Hundred Fifty Only	Per Square meter	11016.0
	3	Providing and fixing ply wood lining with butt jointing and nails (frame work and cove fillets to be measured and paid for separately) including carriage of materials in all leads	14.96	Sqm	600.00	Rupees Six Hundred Only	Per Square Meter	8976.0
-	4	and lifts as per the directions of the Engineer-in-Charge. (1) 6mm (Six minmetre)unck Providing and fixing square edges cover fillets (beading) 19mmx6mm(Nineteen	48.60	Rmt	65.00	Rupees Sixty Five Only	Per Running Meter	3159.0
	5	complete including carriage of matrials in all leads and lifts as per directions of the Engineer-In-Charge.(i)1st class deodar wood. Providing and fixing bright finished brass ball catcher 10 mm dia including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Nos	50.00	Rupees Fifty Only	Each	1800.0
	6	Providing and fixing bright finished Stainless steel handles with screws etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in	34.00	Nos	150.00	Rupees One Hundred Fifty Only	Each	5100.0
	7	Charge. (i) 125mm Providing wood work in frames of false ceiling, partitions etc. sawn and fixed is position with necessary stainless steel screws etc. including carriage of materials in a leads and lifts as per directions of the Engineer-in-Charge. (a) 2nd class Pine wood.	0.035	Cum	92000.00	Two Thousand Only		3220.0
	8	Providing and applying white cement based putty of average thickness 1 mm, of approved brand and manufacturer, over the plastered wall surface to prepare the surface even and smooth including carriage of materials in all leads as per directions of the Engineer-in-Charge.	~ \	Sqm	60.00	Rupees Sixty Only	Per Squar Meter	2522.0

. .

The transfer of the state of th

	Applying priming coat over new wood and wood based surfaces after and including prepering the surface by thoroughly cleaning oil, grease, dirt and other foreign matter)		Sqm	38.00	Rupees Thirty Eight Only	Per Square Meter	1597.00
10	prepering the surface by thoroughly cleaning on, greater, and leads as per directions sand papering and knotting including carriage of materials in all leads as per directions of the Engineer-in-Charge. Painting two coats(excluding coat) on new wood and wood based surface with enamel paint to give an even shade including cleaning the surface of dirt, dust and other foreign matter, sand papering & stoping including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) With white enemal paint.	42.03	Sqm	70.00	Rupees Seventy Only	Per Square Meter	2942.00
						Total	97073.00
· 	Quated rates Percentage in figures Quoted rates Percentage in words					G.Total	

(T/S No. 47+81-82 Dated Rs... 99, 985/2.).

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer Shimla Division No.I, HP PWD Shirala-3.

	SCHEDULE OF QU	ANTITY	Y				
 Tend	er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, l	H.P.P.W.D	., SHIM	[LA-3.	Estimated Co		
Nam	e of Work :- A/R & M/O various Type-I to Type-VI Otrs. of GAD at Kasu	mpti Shim	1a-9. (S	SH:- Repair	Earnest Mon	ey :- 2,0	00.00
work	k in Kitchen, Providing and Fixing acessories etc in Type-III Set No. 1	110 and T	ype-III	64 Under	Time:- One l	Month.	
	Description of Work / Item (S)	No.of Qty.		Estimated I	Rate	Unit	Amount
	Description of work / item (5)	2.0702 Q.07		In figures	In words		
No 1	Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i)Nominal concrete 1:4:8 or leaner mix (i/c equivalent design mix)	0.07	Cum	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Cubic Metre	81.00
2	Dismantling tile work in floors and roofs laid in cement mortar including stacking material within 50 metres lead including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)For thickness of tiles 10 mm to 25 mm	23.18	Sqm	45.00	Rupees Forty Five Only	Per Square Meter	1043.00
 3	Dismantling doors, windows and clerestory windows (steel or wood) shutter including chowkhats, architrave, holdfasts etc. complete and stacking within 50 metres including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Of area 3 sq.		Nos	250.00	Rupees Two Hundred Fifty Only	Each	500.00
4	Providing and laying cement concrete in retaining walls, return walls, walls (any thickness) including attached pilasters, columns, piers, abuttments, pillars, posts, struts, buttresses, string or lacing courses, parapets, coping, bed blocks, anchor blocks, plain window sills, fillets, sunker floor etc., up to floor five level, excluding the cost of centering, shuttering and finishing including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 1:3:6 (One cement: Three coarse sand): Six graded stone aggregate 20 mm nominal size)		Cum	5400.00	Rupees Five Thousand Four Hundred Only	Per Cubic Metre	2376.00
5	Providing concrete for plain/reinforced concrete in open foundations complete as per drawings and technical specifications Clause 802,803,1202 & 1203 including carriage of materials in al leads and lifts as per directions of the Engineer-in-Charge. (i) Nominal mix 1:2:4 (One cement Two coarse sand): Four graded stone aggregate 20 mm nominal size)	1	Cum	6500.00	Rupees Six Thousand Five Hundred Only	Per Cubic Metre	975.00
6	Providing and laying rectified Glazed Ceramic floor tiles of size 300x300 mm or more (thickness to be specified by the manufacturer), of 1st quality conforming to IS: 15622, of approved make in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick Cemen Mortar 1:4 (1 Cement: 4 Coarse sand), jointing with grey cement slurry @ 3.3 kg/ sqm including pointing the joints with white cement and matching pigments etc., including carriage of material in all leads and lifts as per directions of the Engineer-in-Charge.	t S	Sqm	1140.00	Rupees One Thousand One Hundred Forty Only	Per Square Meter	3192.00

7	m	le work in skirting, risers of steps and dado up to 2 m height over 12 mm thick bed of cement ortar 1:3 (1 cement :3 coarse sand) and jointed with grey cement slurry @ 3.3 kg/sqm, cluding pointing in white cement mixed with pigment of matching shade including carriage of aterials in all leads and lifts as per directions of the Engineer-in-Charge.	18.32	Sqm	1140.00	Rupees One Thousand One Hundred Forty Only	Per Square Meter	20885.00
8	Pi in sa	roviding and fixing vitreous China wash down, water closet (European type. W.C. pan) with stegral 'P' or 'S' trap including jointing thetrap with soil pipe in cement mortar 1:1(1 cement: 1 and) (Seat and over to bemeasured and paid for separately) including carriage of materials in all eads as per directions of the Engineer-in-Charge (i) ordinary closet MAKE ESS ESS or	1.00	Nos.	2800.00	Rupees Two Thousand Eight Hundred Only	Each	2800.00
9) P	Equivalent. Providing and fixing plastic seat (Solid / Hollow type) and cover for wash down water closet with C.P. Brass hinges and rubber buffers including carriage of materials in all leads and lifts as were directions of the Engineer-in-Charge. (1)SOLID TYPE (a) White plastic seat and cover. MAKE ESS ESS or Equivalent	1.00	Nos	1049.36	Rupees One Thousand Forty Nine and Paise Thirty Six Only	i	1049.00
1	- 1	Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle ever) conforming to IS: 7231, with all fittings and fixtures including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 10 litre capacity - White MAKE	1.00	Nos.	2473.40	Rupees Two Thousand Four Hundred Seventy Three	Each	2473.00
1	1	Providing and fixing hand faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS	1.00	Nos.	875.44	Rupees Eight Hundred Seventy Five	Each	875.00
-	12	Providing and fixing 100 mm sand cast Iron grating for gully trap including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	200.00	Rupees Two Hundred Only	Each	200.00
		Providing and fixing C.P. Brass Towel rail complete with C.P. Brass brackets fixed to wooden plugs with C.P. Brass screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 600 mm long towel rail with total length of 645 mm, width 78 mm and effective height of 88 mm, weighing not less than 190 gms. MAKE ESS ESS		Nos.	1074.00	Rupees One Thousand Seventy Four Only	Each	1074.00
		Providing and fixing PTMT towel ring trapezoidal shape 215 mm long, 200 mm wide with minimum distances of 37 mm from wall face with concealed fittings arrangement of approved quality and colour, weighing not less than 88 gms including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS		Nos.	968.82	Rupees Nine Hundred Sixty Eight and Pais Eighty Two Only		969.00

.						1		
	15	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	1050.00	Rupees One Thousand Fifty Only	Each	1050.00
		Providing and fixing chromium plated brass soap dish with C.P. Brass brackets fixed to wooden plug with C.P. Brass screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (E.S) Make ESS ESS or Equivalent.	1.00	Nos	650.00	Rupees Six Hundred Fifty Only	Each	650.00
	′	Providing and fixing C.P. brass bib cock of approved quality conforming to 1S:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm nominal bore Make ESS ESS	1.00	Nos.	850.00	Rupees Eight Hundred Fifty Only	Each	850.00
		Providing and fixing unplasticised P.V.C. connection pipe with PTMT Nuts, collar and bush of approved quality and colour including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15 mm nominal bore with 45 cm length	1.00	Nos.	150.00	Rupees One Hundred Fifty Only	Each	150.00
		Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V.C. waste fittings including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) Flexible pipe (a) 32 mm dia	1.00	Nos.	200.00	Rupees Two Hundred Only	Each	200.00
	20	Providing and fixing 600x120x5 mm glass shelf with edges round off, supported on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with 40 mm long	1.00	Nos.	650.00	Rupees Six Hundred Fifty	Each	650.00
		screws, rawl plugs etc., including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.				Only	·	
	21	Providing and fixing C.P. brass angle valve for basin mixer and geyser points of approved quality conforming to IS:8931 including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 15mm nominal bore MAKE ESS ESS	1.00	Nos.	850.00	Rupees Eight Hundred Fifty Only	Each	850.00
		Providing and fixing G.I pipes complete with G.I fittings and clamps including cutting chases and making good the all including carriage of materials within all leads and lifts and as per the direction of Engineer-in-Charge. (i) 15mm (Fifteen millimeters) nominal bore	6.00	Rmt	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	2100.00
	23	Providing and fixing G.I union in G.I pipe including cutting and threading the pipe and making long screws complete (New work) including carriage of materials in all leads and lifts as per direction of the Engineer-in-Charge. (i) 15mm (Fifteen millimeters) nominal bore	1.00	Nos.	150.00	Rupees One Hundred Fifty Only	Each	150.00
	24	Providing and fixing high pressure PVC spigot and socket, waste and ventilating pipes ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Rmt	350.00	Rupees Three Hundred Fifty Only	Per Running Meter	350.00
•		(i) 110 mm dia. (ii) 90 mm dia.	1.00	Rmt	250.00	Rupees Two Hundred Fifty Only	Per Running Meter	250.00

```	25	Providing and fixing PVC single equal branch plain ISI marked including fixing with approved	1.00	Nos.	350.00	Rupees Three	Each	350.00
•		adhesive etc. complete. (i) 110 mm dia.				Hundred Fifty Only		
		(ii) 90 mm dia	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
	26	Providing and fixing PVC collars ISI marked including fixing with approved adhesive etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	275.00	Rupees Two Hundred Seventy Five Only	Each	275.00
		(ii) 90 mm dia.	1.00	Nos.	220.00	Rupees Two Hundred Twenty Only	Each	220.00
	27	Providing and fixing PVC plain bend ISI marked including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	300.00	Rupees Three Hundred Only	Each	300.00
		(ii) 90 mm dia.	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
	28	Providing and fixing PVC reducer ISI marked including jointing with approved adhesive etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110mmx90 mm dia	1.00	Nos	300.00	Rupees Three Hundred Only	Each	300.00
	29	Providing and fixing PVC floor trap ISI marked of self cleaning design including fixing with approved adhesive, cost of cutting and making good the wall and floors etc. complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110mm x 90mm (one hundred ten milimetre into ninety millimetre) nominal size.	1.00	Nos.	350.00	Rupees Three Hundred Fifty Only	Each	350.00
	30	Providing and fixing PVC single equal branch with oval access door, ISI marked insertion rubber washer 3 mm thick bolts and nuts complete including fixing with approved adhesive etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 110 mm dia.	1.00	Nos.	300.00	Rupees Three Hundred Only	Each	300.00
		(ii) 90 mm dia	1.00	Nos.	270.00	Rupees Two Hundred Seventy Only	Each	270.00
	31	Providing and fixing panelled glazed or panelled and glazed shutters for doors windows and clerestory windows. Including black enamelled iron butt hinges with necessary screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 40mm thick (i)2nd class deodar wood.	0.52	Sqm	4800.00	Rupees Four Thousand Eight Hundred Only	Per Square Metre	2496.00

	·			,	·			
•		Providing and fixing wire gauge shutters using galvanised M.S. wire gauge of I.S. gauge designation 85 G. with wire of dia 0.56 mm for doors windows and clerestorey windows including bright finished black enamelled iron hinges with necessary screws including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)40mm thick 2nd class deodar wood	0.52	Sqm	4500.00	Rupees Four Thousand Five Hundred Only	Per Square Metre	2340.00
	33	Providing and fixing aluminium tower bolts, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.  (i) 150x10mm	1.00	Nos.	80.00	Rupees Eighty Only	Each	80.00
· .		(ii) 200x10 mm	1.00	Nos.	100.00	Rupees One Hundred Only	Each	100.00
		Providing and fixing aluminium handles, ISI marked, anodised (anodic coating not less than grade AC 10 as per IS: 1868) transparent or dyed to required colour or shade, with necessary screws etc. including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 125 mm	1.00	Nos.	75.00	Rupees Seventy Five Only	Each	75.00
		Providing and fixing bright finished brass hard drawn hooks and eyes including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) 200 mm	1.00	Nos.	60.00	Rupees Sixty Only	Each	60.00
		Providing and fixing C.P. Brass extension nipple (size 15mmx50mm) of approved make and quality as per direction of Engineer-in-charge	1.00	Nos.	80.00	Rupees Eighty Only	Each	80.00
	37	Providing and fixing 15mm mixer for kitchen sink with top / bottom swinging spout. including carriage of materials in all leads as per directions of the Engineer-in-Charge. MAKE ESS ESS	2.00	Nos.	4000.00	Rupees Four Thousand Only	Each	8000.00
	38	Providing and fixing one hole basin mixing Faucet including carriage of materials in all leads as per directions of the Engineer-in-Charge. MAKE ESS ESS	2.00	Nos.	4000.00	Rupees Four Thousand Only	Each	8000.00
	39	Providing and fixing wall mixing faucet including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. MAKE ESS ESS	2.00	Nos.	4000.00	Rupees Four Thousand Only	Each	8000.00
		Demolishing cement concrete manually/ by mechanical means including disposal of material within 50 metres lead as per direction of Engineer - in - charge. (i) Nominal concrete 1:3:6 or richer mix (i/c equivalent design mix)	0.08	Cum	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Cubic Metre	92.00
	41	Centering and shuttering including strutting, propping etc. and removal of form work for including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i)Retaining walls, return walls, walls (any thickness) including attached pilasters, buttresses, plinth and string courses fillets, kerbs and steps etc.	0.75	Sqm	450.00	Rupees Four Hundred Fifty Only	Per Square Metre	338.00

42	Marble work (table rubbed and polished for walls lining) Veneer work 2.50cm, thick in cement mortar 1:3 (1 cement:3 sand) including pointing with white cement mortar 1:2 (1 white cement: 2 marble dust) with an admixture of pigment to match the marble shade including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) Baroda Green Marble	0.40	Sqm	4000.00	Rupees Four Thousand Only	Per Square Metre	1600.00
43	Providing and fixing PVC door bend with oval access door, insertion rubber washer 3 mm thick bolts and nuts ISI marked complete including fixing with approved adhesive etc. including carriage of materials in all leads as per directions of the Engineer-in-Charge.  (i) 110 mm dia.	1.00	Nos.	350.00	Rupees Three Hundred Fifty Only	Each	350.00
	(iii) 90 mm dia.	1.00	Nos.	250.00	Rupees Two Hundred Fifty Only	Each	250.00
44	Providing and fixing vitreous China Hind ware IS marked IS No.2556 or euivalent wash basin with single hole for pillar tap with C.I. or M.S. brackets painted white including cutting holes and making good the same but excluding fittings with pedistal complete including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) Flat back (i)550 x400mm.	1.00	Nos	2600.00	Rupees Two Thousand Six Hundred Only	Each	2600.00
45	Providing and fixing C.P. Brass waste for wash basin or sink including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (a) 32mm dia.	1.00	Nos	550.00	Rupees Five Hundred Fifty	Each	550.00
46	Providing and fixing Stainless Steel A ISI 304 (18/8) kitchen sink as per IS:13983 with C.I. hrackets and stainless steel plug 40 mm, including painting of fittings and brackets, cutting and making good the walls wherever required including carriage of materials in all leads as per directions of the Engineer-in-Charge. (i) 510x1040 mm bowl depth 250 mm	1.00	Nos.	3800.00	Only Rupees Three Thousand Eight Hundred Only	Each	3800.00
47	Providing and fixing white vitreous china pedestal for wash basin completely recessed at the back for the reception of pipes and fittings including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.00	Nos.	3000.00	Rupees Three Thousand Only	Each	3000.00
48	Repair to plaster in patches of 2.50 square meter under and upto 10 to 15mm thick including cutting the patch in proper shape and re-plastering the surface of wall including disposal to the dumping ground with a lead of 20 metres with including carriage of mateirals in all leads and lifts as per directions of the Engineer-in-Charge. (i) Cement Mortar 1:5(One cement: Five sand).	2.00	Sqm	250.00	Rupees Two Hundred Fifty Only	Per Square Meter	500.00
49	Demolishing R.C.C. work manually/ by mechanical means including stacking of steel bars and disposal of unserviceable material within 50 metres lead as per direction of Engineer - in- Charge.	0.09	Cum	1350.00	Rupees One Thousand Three Hundred Fifty Only	Per Cubic Metre	122.00

and the second second

50	Steel reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete upto plinth level including carriage of materials in all leads and lifts as per directions of the Engineer-in-charge. (i) Mild steel and Medium Tensile steel bars.	20.00	Kgs.	105.00	Rupees One Hundred Five Only	Per Kilo- gram	2100.00
51	Half brick masonry with common burnt clay F.P.S. (non modular) bricks of class designation 7.5 in superstructure above plinth level up to floor V level. Cement mortar 1:4 (one cement :four coarse sqm sand) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	1.53	Sqm	1020.00	Rupees One Thousand Twenty Only	Per Square Meter	1561.00
52	Providing and fixing chicken mesh in wall surface screws and nails including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.	8.49	Sqm	200.00	Rupees Two Hundred Only	Per Square Metre	1698.00
53	Dubbing out an old irregular walls average 10mm thick with including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (i) cement mortar 1:5 (One cement: Five sand).	8.49	Sqm.	280.00	Rupees Two Hundred Eighty Only	Per Square Metre	2377.00
						Total	98776.00
	Quated rates Percentage in figures						
	Quoted rates Percentage in words	•					
						G.Total	<del> </del>

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I,

HP PWD/Shimla-3.

	SCHEDULE OF Q	UANTIT	Y					
<b>Fend</b>	er Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.	3.	Estimated Cost:- 99,762.00					
Name of Work: - Special Repair to Atal Institute of Medical Super Specialties Shimla-6 at Chamayana					Earnest Money :- 2,000 00			
SH:	<ul> <li>Providing and Fixing Flashing, Base frame work etc on Roof top dor/bedminton court portion and repairs to roofing).</li> </ul>	of Hospi	tal Bui	ldiing over	Time:- One	Month.		
Sr.	Description of Work / Item (S)	No.of Qty.	<u>.</u>	Estimated R	Pata	Unit	Amount	
No	(0)			In figures	In words	Cint	Amount	
1	Steel work welded in built up sections, trusses and framed work including		Kgs.	105.00	Rupees One	Per	5670.00	
	cutting hoisting fixing in position and applying a priming coat of red lead				Hundred Five Only	Kilogram	·	
	paint including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge. (Agency has to take all safety measures for				, oin			
	workers and public below during execution and nothing shall be paid			İ				
	extra for any)							
2	Steel work in built up tubular (round, square or rectangular hollow tubes trusses etc), including cutting, hoisting, fixing in position and applying a		Kgs	115.00	Rupees One Hundred	Per Kilogram	68127.00	
	priming coat of approved steel primer, including welding and bolted with				Fifteen Only ·			
	special shaped washers etc complete including carriage of materials in all			}				
•	leads and lifts as per directions of the Engineer-in-Charge.(Agency has to			:	-			
	take all safety measures for workers and public below during execution							
	and nothing shall be paid extra for any) (MAKE TATA)			 				
3	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade over anunder coat of suitable shade	15.00	Sqm	75.00	Rupees Seventy Five	Per Square Meter	1125.00	
٠	with ordinary paint to approved brand and manufacture including carriage of				Only	1710101		
1	materials in all leads as per directions of the Engineer-in-Charge. (i) Two or			:			·	
	more coats on New work (Agency has to take all safety measures for							
	workers and public below during execution and nothing shall be paid extra for any)							

4	Providing and fixing 0.48mm(zero point Forty eight milimetre) thick prepainted G.I. Sheet in roofing with hot dipped metallic zinc coated sheet with top coat of regular modified polyster (RNP) organic coating of 20 microns over 5 microns primer coating to back coat of polyster of 5 microns over 5 microns primer coating i/c fixing with prepainted iron J or L hooks, bolts and nuts 6mm dia metre with prepainted limpet and bitumen washers complete with all accessoriees as required as per the direction of Engineer-incharge. (Agency has to take all safety measures for workers and public below during execution and nothing shall be paid extra for any)	21.60	Sqm	1150.00	Rupees One Thousand One Hundred Fifty Only	Per Square Metre	24840.00
	Quated rates Percentage in figures					Total	99762.00
	Quoted rates Percentage in rigures  Quoted rates Percentage in words	<u> </u>					
						G.Total	**

(T/S No.1787 19 Dated 24-06-2025 Amount to Rs.\.02..755/5...).

## CONDITION:-

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engineer, Shimla Division No.I, HP PWD Shimla-3.

700	SCHEDULE OF QU	ANTIT	$\mathbf{Y}_{-}$							
Tenc	Tender Inviting Authority: EXECUTIVE ENGINEER SHIMLA DIVISION No-I, H.P.P.W.D., SHIMLA-3.						Estimated Cost:- 99,973.00			
NAI	NAME OF WORK:- A/R & M/O to various Residential Building at Kasumpti Shimla-9. (SH:						000.00			
1 royaling and fixing of PVC Flooring in Type-IV Set No. 40 at Kasumpti S			١.		Time:- One					
1	Description of Work / Item (S)	No.of Qty		Estimated I	Rate Unit		Amount			
No	D 11 12 12 1			In figures	In words	1				
• (	Providing and fixing 1.50mm(One point Fifty milimetre) thick PVC antistatic venyl Flooring plain or coloured, carbed or mosaic/metalled finish laid with approved adhesive on sub-floor (damp proofing treatment to be paid for separately) including carriage of materials in all leads and lifts as per directions of the Engineer-in-Charge.		Sqm	950.00	Rupees Nine Hundred Fifty Only	Per Square Metre	85861.00			
	Providing and fixing 12mm thick water proof shuttering ply for up boards including fixing with nickel plated piano hinges with screws etc carriage of materials in all leads and lifts as per the directions of the Engineer-in-Charge.	12.60	Sqm	1120.00	Rupees One Thousand One Hundred Twenty Only	Per Square Meter	14112.00			
	Quated rates Percentage in figures					Total	99973.00			
	Quoted rates Percentage in words						<u> </u>			
	Zarana - Accounting III Mortes				·					
1				<u> </u>		G.Total				

1. Rates should be quoted for all heights including all leads and lifts.

2. Sample of all the material to be used on work shall be got approved from the Engineer-in-Charge in advance before actual use on work and any or all of the material which are available as per Indian standard in the market should confirm to bureau of indian standars.

Executive Engine

Shimla Division No.I,

HP PWD Shimla-3.